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[MATHS, Important Questions] [CH-01]
By:(HM Hasnan)

Chapter-1

Find The slope of the line 8x + 24y +5=0:
a) 3 b) -1/3

c) -3 d) 1/3

The equation representing a straight line is 3y = 7x + 11. The y-intercept is:
a) 3/7 b) 11/3

c) 7/3 d) 11/7

The equation representing a straight line is 4y = 5x + 8. The slope of lineds:
a) 1.25 b)

¢) 0.8 d)

F =
Sx + 2y — 10 = 0, which of the following is true about the equatlon\
a) Degree of equationis 1 b_!cd,/sln;‘:\e =-2.5

c) Both R Sﬂune of these

If a line passes through (5, 3) and the :Hnternep is h Ifuf the y-intercept. Write the
equation in slope intercept form. l._ .
a) Y=-2x+13 b) Y=4-2x

c) Y=2x-4 \\ 7 d) y=2x+4
A line passes through (5, 3). It has'an x—lntercept value which is twice the y-intercept value. The

slope intercept form of the Equatlm"l\ofstﬁllght line will be:
a)  Y=-1/2x%55 b)  Y=-1/2x+11

0) Y=2x+ 3N d  y=-2x-11

Aline hawngnegatwésrop\gpasses through the point {4,8}. If the value of x-intercept is one-
forth of thewal u@;emept Find the equation of straight line.
b) y=-4x+8

d)  y=-3x+20

1.8) \W e an eq atmn that describes the line with slope = —1/5 and y-intercept = 1/3 in slope

erc \} farm.

=-1/5x+1/3 b) y= 1/3x+1/2
c \r=—1131— 1/3 d) y=1/5x+1/3
1.9)  Which line represent semi-variable cost/ Total cost/mixed cost.[MCQ]

/
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[MATHS, Important Questions] [CH-01]
By:(HM Hasnan)

d) None of these

[also determine which line represent variable cost (a) and fixed cost(c).]
a) A b) B

c) C d) D
1.10) Which line passes through positive negative region?

a) g&rc

c) f&b
1.11) Identify the Negative Slope of Ea_!gg_

a) B&¢c
¢) f&b \/

1.12) Identify the lnﬁnlte%ﬂf the above diagram
%_,

a) g_&c

ey,

c)
A\‘ 55
1.13) IdentHifythe zero Slgpe of the above diagram.
- F 4
a) B&c
“, N

c) f&b
1.14) sk:%\e of Two lines having m:and mzare perpendicular if

a mixm2=1 b)

c) mlxm2z1 d)

1.15) slope of Two lines having mi1and mzare parallel If
a) mixm2=1 b) ml=m2

c) mlxm2zl d) mlxm2=-1
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[MATHS, Important Questions] [CH-02]
By:(HM Hasnan)

Chapter-02
MATHE IC EOUATIONS:

For 8xy’+5x%y*+8x-5 degree of polynomial is
a) | b} b

c) 8 d)

10
Factorize the following x*+7x+12 =0 &4
a) (x-3) (x-4) b) (x+4) (x+3) \_,

c) (x-3) (x-4) d) (x-4) (x

Solution — https://www .voutube.com/watch?v=MaVau-Bdp5i&t=1402 “;:/

(Video name: CH 01 Math QM) / \>‘V

Scan this QR for Complete solution

which of the following is the factors of the expression lﬁx"\'__.l!x +4
a)  4{x-1)(x+1) L G Ny~ a1
c) 4(2x-1)* 7' d) 4(2x+1)*

solve the following x*+7x+12 =0, Find thé Rogt bf the equation.
a)  (x=3),(x=4) N YV b (x=4)(x=3)

o9 k=6hixzd N/ 0 (e=a)(x=3

2.5)  Factorize the following 3x*-6x-9
a) 3(x - 3) {3::-1- 1) b} 3x-3) (x+1)

c) (3x +9) (x- 1) \\/ d) (3x-9) (3x +3)

2.6) Cluadrahc‘équaﬂons w\hen plotted on a graph are may be
af u sh;p\ed:ﬁ b} inverted U shape

c) W d) None
N 2\ -
2.1<I’-m the val eofxam:lyﬂ=i ;__§.=§

E 5
a) , X=7,y=9 X=7,y=7

X=9,y=9 d) None

Solution — https://www.youtube.com/watch?v=MaV4u-BdpS5I1&t=1402s
(video name: CH 01 Math QM)
Scan this QR for Complete solution
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Find the value of x and y:

+1 xX+5

-1= P y-SH

a) X=5y=10
c) X=5y=15

Find the value of x and y:

x+3 8 x+2 ®
3'“ ?

x=2 x=1
a) 3/4, % 1/4,1/4

c) 5/4, % 174wz
A
Simplify 4x* +81y* \\\W’
a) (26 +9y" + 6xy) (2x749y7 + 6xy) b) IR V" + 6x) (25749 - 6x)
c) (2xF + 9y + Bxy) (2x2- 9y? + Bxy)

) None
\-L"\'/"
Solution —bhttps:ffwww.voutuhe.{rgfwatr: v '4u-Bdp518&t=1402s
(Video name: CH 01 Math QM)

Scan thisdR for Compiete.solution

\

25x -52—"= 25. Find thé value of x?

\ Y

2.13) “Solve for 3x+ 4y =36andx + 2y =16
\}“‘-’ X=4,y=6 b)  X=6,y=4
X=5vy=10 d) X=6,y=12
2.14) Hamid and Sajid have some amount to Invest In such a way that sum of 5 time of Sajid and 3
times of Hamid's investment is 8 million and difference between 3 times of Sajid and twice of

Hamid is 1 million find investment of both respectively.
a) 1 million each b) 1.5 million & 1 million

c) 2 million & 1.5 million d) 2 million each
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[MATHS, Important Questions] [CH-02]
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2.15) Sajid and Hamid have some amount to invest in such a way that 1 time of Hamid and 7
times of Sajid’s investment is 9 million and thrice of Hamid and twice of Sajid is 4 million
Find investment of both respectively
a) 3 million & 3.05 million b) 0.526 million &1.211million

c) 2 million each d) None of these

Hamid and Majid invest in a project. If sum of 4 time of Hamid and 5 times of Majid is 32
million and difference of 2 times of Majid and 3 times of Hamid is & million Find
investment of both respectively

a) 3 million & 4 million b)  3million & 6m z@;%_’

c) 1 million & 2.5 million d) Nane of thes?el\\a '
an and seven

Kamran and Salman invested in a business. The sum of investment of Kgmr
times the investment of Salman amounts to Rs 18 million. Différénce between thrice
the investment of Kamran and twice the investment of Salrnan\ls Rs 8 million.
Amount invested by Kamran and Salman is:
a) Rs 11 and 1 milllon respectively :lzfﬂ" \75 @nd 1.5 million respectively
)

c) Rs 4 and 2 million respectively _.-—""':}E million each.
& S DN
Solution —# https://www.youtube.comywatc v V4l-Bdp5I&t=1402s
(Video name: CH 01 Math QM)’
Scan this, Q,H far Col"ﬁbne solution
\f

2.18) 6 years ago the age of father was 3 tl Es of his son’s age. After 9 years it will be twice the age of
his son. The presenf'age of father and $on is:
a) 48 and 20 b) S5land21

d) 57 and 23

{Video name: CH 01 Math QM)
Scan this QR for Complete solution

2.19) at\ﬁer age 3 times of son’s age 5 year ago. After 7 year father age is twice as son age. Calculate
the\pmsent age of both?
) 7,3 b)  (535)
c) (17,41) d) (15,45)

2.20) Seven years ago the age of a father was thrice of his son. After 7 years the age of the father will
be twice that of his son. The present ages of the father and the son are?
a) (69,23) b) (85,39)

c) (78,32) d) None of these
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[MATHS, Important Questions] [CH-02]
By:(HM Hasnan)

Identify the equation of straight line,
a) 4x* +3y =18 b) ax + 3y’ =18
€) 4x+3y=18 d) 4x?+3y*=18

Which of the following statements Is carrect In respect of the equation? X+2Y+3=0
a) The value of the intercept on the y-axls  h) The value of the intercept on x-axis is =3
is 2
c) The slope of the line is 2.5 d) The degree of the equation is 2

Which of the following statements is correct in respect of the equation?

X+2Y+3=0 @

a) The value of the intercept on the y-axis b) The value(g‘f'“e@er;em on x-axis is -3
is3
c) The slope of the line is 1 d) The degree u@e equation Is 0

a) (6,-5) b :
c) (2,5) @2)

Which of the following value of x will satl’sfy the, {;D-\a\

32 o ﬁ @j
a) 1.09 b) 1.510

Q4
Which set of a point satisfy the equationy -2x=-4 Q\\
)2 ‘}6}”’

¢) 1,751 /§V 7 d) 2015

Which of the following values ofx Illsa tisfy the equation?
X+10=11=x+1 ¢ :
a) 1and 0.818 b) -1 and -0.818

LN
¢) 1 and -0. 315\ d) —1and 0.818
va

Which of the tullaw!nh ,;of x will satisfy the equation?
3X + 1u 100 2540
a} \ lar%vll b) -1land1.1

. ,\1 and 1.7 d  -land-1.1
2.28) \, Which of he full"uwlng statements Is correct for the equation 3x? +5x-97

’\ Coefﬂclent of xis2 )] Constant = -9

\_..-' The equation contains two variables d) It is a linear equation

2.29) Whlch of the following equation Is not linear?
a) Y=2x-5

c) Y = 2%
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[MATHS, Important Questions] [CH-02]
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There is a two digit number and 4 times the sum of its digits and 12 times the difference
of its digits makes the number. If the number is xy. Which of the following will give the
number after simultaneous solution?

a) Xy + 4y = 4x, 12x = xy +12y b) xy—4dx= -4y, 12x+ xy = 12y

c) Xy =4y =4x,xy + 12y =12x d) Nane of these

Simplifyx+ 10 = 11x* = x +1

a) 1&0.8181 -1 &-0.8181

c) 1&-0.8181 -1 £0.8181 ~ \4 y
Which one is not a quadratic equation?

a) Ix+4=7 b) 2x1=9

c) Ox2+2x=-3 d) S)ﬁﬁx\i E{_’

Sum of thrice of Arif and twice of Ali is 18000 and difference o}fﬁthrlce\ Arif and twice of
Ali is 15000.How much amount Arif and Ali have?

a) 5500, 750 b \;//’Suc:;‘ 750

c) 4500, 750 xf( d] \—_;'ZSDD 750

LS
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[MATHS, Important Questions] [CH-03]
By:(HM Hasnan)

Chapter-03
MATHEMATICAL PROGRESSION

The sum of the three numbers in A.P is 21 and the product of the first and third number
of the sequence is 45. What are the three numbers?
a) 4,6,11 b) 59,7

c) 579 d) 359

Mr Adeel saved Rs.x in January,. Then each subsequent month he saved Rs. 10 E
than the previous month. If his total savings at the end of December stood at ﬁ?\iﬁ
how much did he save in January?

a) 700

c) 900
Solution https r'f‘{uutu he!tIRBFNPI't?,g

Ali receives a total of Rs. 288000 in two yéars.inthe form of monthly installments. If he receives
1000 more than the prewou{ﬂwonth L{v:ulate he first installment?

a) 7500 \\/ b) 6500
c) 500 None of these

XYZ and Company h d veloped a new product which would earn a revenue of Rs 90 million
during the'ﬁrst year\Thereafter the revenue would decline by 10% each year. Calculate
the revefiue: Qampﬂny would be able to earn over the life of the product.

450'millio b) 500 million

900 milljgA d) 1 billion

ps://youtu.be/tIROFNPft3g
(Vldeo name: Question (Mathematical Progression))
Scan this QR for Complete solution
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3.5)  Awan and Company has developed a new product which would earn a revenue of Rs. 90 million
during the first year. Thereafter the revenue would decline by 30% each year. Calculate the
revenue that the company would be able to earn over the life of the period.

a) Rs. 800 million b) Rs. 600 million

c) Rs. 300 million d) Rs. 129 million
Find the 15th term of the Geometric progression, 3, 6, 12, 24, 12,288
a) 49,152 b) 39,152
c) 29,152 d) 8,304 ; N
[\*
A person has monthly income of Rs.1000 and his income increase b F{.':.SD._\oft e previous
month income. On which term his total salary will exceed 100,000. ’ N

a) 47" b] 9"‘*"\

c) so™
L\\\\:
Which of the following pairs of values cannot form pa of a-Geometric Progression?
a)  (6and-6) b — V5 +1/V7

b

c) 1,000,000 and 0 ]\\ All of the above

The sum of all odd numbers be ween 150 ﬂ aun

a) 14,875 \ 13,875
c) 16,875 \\/ dl 12,578
A

Borrowed amount Rs 1.500 000 and returned 80,000 in the first year. In each upcoming year he
returned 1.2 times of the: previous year. In which year will he be able to return the loan
a) g Q. b) gth

{::I D:“\\ d) 11t

I'be/tIRSFNPItIg
(Viden nf’me
Scan this QR for Complete solution
\\,/ Q P

N

3.11) If Abmad save 1000 in the first month and 500 more every month, how much time he need to
save Rs.450007
a) 9 b) 8

c) 12 d) 6
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[MATHS, Important Questions] [CH-03]
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Ali has to pay Rs. 1500000 in installments. If he pay the first installment of Rs. 80000 and
increase every installment by 1.2, then in which year he will pay the amount?
a) 8n b} Gn

c) 10 d) 11e

If Matti save Rs. 426000 monthly in two years. If he saves 500 in first month and increase by x
every month. Find the amount of last installment.
a) 40000 b) 35000

c) 36000 d) 33000 &4
00 .hﬁﬁﬁc\

Basheer saves Rs. 105000 in one year. If his first installment was Rs. 5 ymore Rs.X

will be added monthly to accumulate the amount? ({) \ i
a) 500 b) 10004,

c) 1500 d) z:u';n N

£
' ﬁ"
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[MATHS, Important Questions] [CH-04]
By:(HM Hasnan)

h r-04
Linear Programming

If the objective function is Z = 1500x + 2000y then optimum solution is
a) {0,16) b) (8,12)

c) (14,7) d) (16,0)

If 3x + 72 x + 5 2 5% — 3, then the inequality holds when x lies in the range:
a) 7<x<-3 b) 52x27

c) 3€xs5

If 3x + 7 < 5x =3, then the inequality holds when x Is:
a) Less than or equal to 7

\ ¥
c) Less than orequalto 5 d). reater than or equal to 2

What are the relevant constraints for this gra ph?\

GO

50

40

30

20

10

\x 3\;‘20 - b) x+3y<0
151} X + 3y > 150

Ys y <50
/iso erex,y>0 x£150 wherex, y>0

),x 3y20 d) x-3y<0
X'+ 3y2150 x + 3y > 150
y<50 y <50
x<150 wherex, y>0 %x<150 wherex,y>0
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4.5)

4.6)

a.7
/)\$L yd h) 4 X Y

[MATHS, Important Questions] [CH-04]
= By:(HM Hasnan)

A Manufacturer produce two products P and Q which must pass through the
same processes in department A and B having weekly production capacities of 240
hours and 100 hours respectively. product P needs 4 hours in department A and 2
hours in department B. Product Q requires 3 hours and 1 hours respectively in
department A and B. Profit yield for product P is Rs.700 and Q is Rs.500. The
manufacturer wants to maximize the profit with the given set of inequalities.

The objective function and all the constraints are: /\.¢
NAN\

a) Z=700x+500y b) Z=700x+500Y 4x+3y \\7,’
2x+3ys240, <200 AN, Y

o,
O

Ax+3Y 5240 2x+y$100 /0%
O
f g
"
AN
c) Z=700x+500Y 4x+3y (d) -NOhe of these

<240

2x+y<100 p
% =
ra

L(4

Find the maximum profit if P ="250x # 375y
Constraints are; 4x + 2y < 25000
3x + Jy < 20000

xyz0

] /"‘EB 00 |
& e
N\

A company.makes and sell two products X and Y. The related information Is as follows:

b) 3750000

d) None of these

“Contribution per unit 375 250
"Makimium sales demand per unit 6,000 9,000
Direct labour hours per unit 1 2
Machine hours per unit 3 4

A total of 10,000 direct labour hours and 22,000 machine hours are available per month,

Which of the following objective function (2) and set of canstraints represent the above
situation?
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a.8)

S

EMIER

Z=375x + 250y
X =6,000

Z = 375x + 250y
X < 6,000

Z=375x+ 250y
X <6,000

Z = 375x + 250y
X = 6,000

[AHS, Important Questions] [CH-04]
By:(HM Hasnan)

X + 2y < 10,000 3X + 4y < 22,000
y <9,000 xy=0

X +3y < 10,000 2X + 4y < 22,000
y =9,000 xy=0

X + 3y > 10,000 2X + 4y = 22,0 ’\
y < 9,000 xy=0 %\, ;
X + 3y < 10,000 2X +8y £22,000

4
y = 9,000 fﬁ;va o(
g

Find constraints from following data: 4\

X 1#,(.-—-‘:* P

Contribution per unit 150 300_—)

Maximum sales demand per unit 5,000 <{h3,700"

Direct labour hours per unit £3 o NI

Machine hours per unit N2 ..

-

Maximum Direct labour available.is 18000 hoursy”
. L, )|
Maximum Machine hours available lsﬁdDDﬂ holrs

a) 150x + 300y
3x +y £18000
2% +y $24000

) 50+ 300y
% Bx\,ta?l'ﬁﬂhﬁ
\2:: +y 24000
x,y20
\ N

x,vsﬂ\ \_,

150 x + 300y
3x + 2y < 18000
X +y =< 24000
Xx,yz20

150 x + 300y
3Ix +y < 18000
2x +y <24000
x,y20

P{'\n:phrrlpany owns a machine which runs for 208 hours a month. The machine is used to make
two parts X and Y. each part X takes 1 hour of machine time and each part Y takes 2 hours
of ‘machine time. If x represents the number of part X made in 2 month and vy
represents the number of part Y made in a month, which of the following statements/

inequalities is correct?

a) The company could make any quantity of X and Y but the total machine hours in 2 month

cannot exceed 208.

b) x+2y <208 represents the boundary of maximum production in a month
c) y s 208 if x=0, represents the maximum production of Y in a month

d) both {a) and (b)
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[MATHS, Important Questions] [CH-04]
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A company produces two products X and Y. Each product passes through machine M1 and M2
which have a capacity of 2000 hours and 1500 hours respectively. Product X requires 3 hour
on Machine M1 and 4 hours on Machine M2. Product Y requires * hours on machine M1 and 4
hours on Machine M2, The profit margin on X and Y is Rs. 500 and Rs. 600 respectively.
Construct the function relating to the above situation.

a) 2000 M1 + 1500 M2 b) 222,22 X+ 1875Y

c) 500 X + 600 Y d) 600 X + 500Y

A factory produces two products X and Y, Each product passes through two depart \éntsﬁ.
and B which have a capacity of 1100 hours and 1400 hours respectively., Prod'uctx reqﬁiresd
hour on departments A and 5 hours on departments B. Product ¥ requires? ho son‘
departments A and 8 hours on departments B. The profit margin on s '500 and Rs.
700 respectively. Construct the function relating to the given slluatinn w l

a) 1100x + 1400y b) 500:: +.70 v/

f B
0 600x + 700y d)  / 660000x+ 980000y

et
A factory produces two products x and y. Each product: pﬁ?bfruugh two
departments A and B which have a capacity of-112 h‘é'l'.lrsrand 1400 hours The
Product X requires 4 hours in departrnent ﬁénd 7:haoUfs in department B, the
product Y requires 5 hours in depa ent Aand \ours in department B. The
constralnts representing the ahove data: ., &7
\ %
a) 4x+5y 5 1120 anﬂ4:+§y,5'14ﬁ0 b} 4x+7y < 14000 and 5x+8y 5 1120

O
c) 7x+5y < 1400 and 8x+4y 11;_0 d) 7x+8y £ 1120 and 4x+5y < 1400

A company earnsgr?::ﬁt uf Rs 250 and Rs 375 per unit on product X and Y respectively.
Find the maximum! Eru thayhe company could earn If the company is subject to the
foliowing constraints:
ax+2y$ 25,000 )
3x+fz < 20,000
f‘%j\‘;\\ Rs 1,666,667 Rs 2,187,500

b

\\ \‘Rs 3,750,000 Rs 4,687,500
d.Id]\A company makes and sells two products X and Y. the contribution per unit is Rs

50 for product X and 375 for product Y. due to various constraints, the company
cafinot make more than 750 units of X and 500 units of Y in a month. If x
represents the number of product X, y represents the number opf product Y and C
represents contribution, which of the following relationship represents maximum
contribution?

a) C = 250x + 375y b) C = 750x + 500y
c) C =500x + 125y d) C=3x+1.33y
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[MATHS, Important Questions] [CH-04]
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@@f

&
Which of the following set of constraints is represented by the:above'graph?
X + 2y § 300 3Ix + 4y <500 \ X< 150

y €125 w y=20

X + 3y <500 X <150
y €125 y=0

0 50 100 150 200 250 300

x+ 3y <300 2K < j x <125

y <125 0 y=>0
%

X+ 3y <300 2x + 4y <500 x <150
y <125 X =0 y=0
4.16) Which ofthe.following cons Faints is shown?

12 =

104

1 1 1T 1.1 1
4 6 B 10 12 14 16 18
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[MATHS, Important Questions] [CH-04]
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10x+ 4y <24 2x+3y< 24
Ix + 5y £ 45 3x+5y <45
x<4 x<d
x,ysD X,ys0

2x+3yz224 2x+3y 224
15x +9y <45 3x +5y 245

xs4 xsd
x,yz0 x,yz20 %\, ;

4.17) A company earns a contribution of Rs.12000 and Rs.15000 per unit oﬂ_p;t}du'tt-)l andY
respectively.

Y N Availability
Labour hours S A%, |15,000 hours
Machine hours 15— __ 7 | 21,000 hours

i L
Material (kg) .~ | 14,000 kg
V4 é( \h\ et
Identify the objective function and the constralnts assuming that an order for 200 units
of X and 300 units for Y has alread/-,r ﬁanfconfirmjg_!d;t”
| 2\,
| Z=12000x + 15000y | 6x+5y.< 15000 )| 8x + 15y < 21000 | Sx+ 8y < 14000
N\ ’
| Z=11800x + 14700y | 6x + 5y <*15000 | 8x + 15y < 21000 | Sx + 8y < 14000

N /

| Z=12000x + 15000y '6x + 5y < 12,300 | 8x + 15y < 14,900 | 5x + 8y < 10600

2\ Y

[ Z=12000%.+ 15000y, | 6x + 5y < 14500 | 8% + 15y < 20500 | 5x + 8y < 13500

>
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Chapter-5
TIME VAL F MONEY
(Simple & Compound Interest)

Baber borrowed Rs.900,000 at simple interest of 9.68% per annum. At the end of the
loan period, he repaid a total of Rs.1,510,000. Period of the loan was:
a) 5 years 9 months b) 6 years

c) 6 years 3 months d) 7 years

Tahir took Rs.200,000 from the Bank @ 13.5% rate p.a. What is value of’ ﬁ?:*?‘m after 5
years with simple interest? V)
a) Rs.335,000 b) Rs 125 DDG

c) Rs.435,000

The rate at which a sum becomes four times itself in 15 year
a) 10%

c) 20%
(‘; /
A certain sum of money lent out.at Slmple Interest ount to Rs.690 In three years and
Rs.750in 5 years. The sum Ientlls

a)  Rs.500 Rs.600
¢ Rs.700 \/ d)  Rs.800

Aloanis borrowed BGD 000 for 4 years and simple interest payable on loan Is

650,000 find interest at
a) b) 123%

AS%.\\\ £
o) 25% d  155%

Alrgbom:-wed Rs.'700,000 from Sara for a period of 2 years and 3 months at r% simple interest.
She pa\d a\tntal of §5ﬂ 000 at the end of loan period. the value of “r" is

3) /s 1329% b)  15.53%
\c} 15.87% d) 17.86%

burruwed Rs.500,000 at 8% simple interest from Mani for a period of 3 years and 3 months.
u)/much would Rani be required to pay at the end of loan period?
a) Rs. 630,000 b) Rs. 690,500

c) Rs. 762,000 d) Rs. 775,500

Nisar took Rs. 900,000 from his office at 13.5% simple interest for a period of 5 years and
5 manths. Which of the following amount would be paid as Interest?
a) Rs. 585,000 b) Rs. 607,500

c) Rs. 633,750 d) Rs. 658,125
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Mr. Shahid invested Rs.300,000 and will receive Rs.500,000 after 7 years. If the interest
rate is 8% compounded bi-monthly for last 3 years then what will be the Interest rate of
first four years compounded bi-maonthly?

a) 6.84% b) 7.28%

c) 5.28% d) 8%

Glven Nominal rateis 10% compounded monthly, find effective rate =?
a) 11.47% b) 09.47%

c) 12.47% d) 10.47%

How much would Akram invest to get 10 million after 10 yea
compounded per year?
a) 8.37 million approx. Eaﬁrnlllmn £pr0x

c) 8.12 million approx :l ﬂnne 0 t e
IT Rs.1000 is invested yearly for 3 years @ 7% compou ed a:nuﬁv Find the amount invested
for the next 2 years at 5% compounded annually, if Rs. 500,000 | eceived at the end of 5 year.
a) Rs.212173.45 \h] Rs.242173.45

c) Rs.202173.45 S d]'/ Rs.302173.45

Hayyan invested Rs.400 ODDJ an investmen !:h&rne and got Rs.545,881 at the end of three
years Find effective rate, if inter st Was com pu’ﬂnded monthly
a) 10% Q. b) 10.92%

c) 11.25% ¢© : d) 9.92%

Mr.A |nve§t, {Hs.lﬂ. 00at t\h_e-fate of 4% per annum compounded quarterly will mature at the
end of 5gh yearoFind ,L e alﬁount.
a) Rs'iz,ono' - b) Rs.132,02

[ I Rs 12, 202_4- d) Rs.15,302

5. 15(<~Mear!a h}s mvES'!ed Rs.700,000 in an investment scheme. In return, she would receive
Rs.’:!4 587 sermpannually in arrears, for the six years. She would not receive any
a ount afterwards. Find the nominal and effective rate of return of the scheme.
a) 8% and B.16% b) 8% and 9.16%

c) 8% and 10.16% d) 7% and 7.16%

5.16) The present value of an amount to be received after 7 years at a discount rate of 7% s
®’. What would be the present value if the same amount is received after 5 years?
a) 1.14x b) 1.1449x%

¢) 1.449x d) Y1.1449
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Bank B is offering interest @ 15% compound semiannually to all investments made with
that bank, Bank D is entering the market and want to attract the investors it has also
decided to give interest on monthly compounding at least what rate of interest should be
offered to attract investors from Bank B.

a) 14.60% b) 13.06%

c) 12.05% d) 10.25%

A person makes investment of Rs.8,000 now and in next two years at 10% campm,
annually find his total investment at end of three years ))/

a) Rs.29,000 b) Rs.28,000 %\"
c) Rs.27,500 d) Rs.27 GDU@
Mr. Akbar intends to create an endowment fund to pruwde f dv,r pension of

Rs.4,000 every year. If the fund is invested in high we!dm curl es at 7.5%
compound interest, the amount of endowment will be@_

a) 43333 b) \_} ,333

c) 53,333 «;;33 333
\\

A person deposited Rs.600,000 In a ﬁé&% sim 1elnterest for 3 years and 3 months.

Calculate the amount of moneyfie received at th__)end of period:
a)  Rs.665,500 S) b)  Rs.550,000

c) Rs.775,500 \\/ d) Rs.770,500

If Rs.200,000 is to gmw to Rs.649,464'In ten years’ period, at what annual interest rate must it
be invested, what is the.effective rate of interest s compounded semi-annually?

a) 12.89% §\/ b) 17.5%
c 0 d) 20%
»4\

If nominal |ntere59rate is 8% compounded quarterly, find compounded monthly rate

& person made an investment of Rs 900,000 and received Rs 750,000 more after 4 years and 10
months find rate compounded annually?
a) 11.25% b) 13.36%

¢) 14.25% d  12.95%

Saad borrowed Rs 600,000 from Fahad for a period of 3 years and 9 months at r% simple
interest. He paid Rs 400,000 in excess of the borrowed amount at the end of loan period.
The value of “r* is:
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a) 22.22% b) 17.78%
c) 17.09% d) 16.67%

Saeed invested Rs 400,000 for ten years after which he received a lump sum amaunt of Rs
900,000. If he earned 8.50% interest compounded quarterly during last five years which of the
following rate compounded quarterly did he earn during first five years
a) 7.89% b) 8.25%
c) 8.39% d) 8.50%
é "
Anees invested Rs. 500,000 for 6 years after which he received a lump sum am \dnt of Rs. 822,531,

If he earned 10% interest compounded annually during last four vearséhat ke of interest
compounded annually did he earn during first two years?

6% b 7% ¢ @

c) 8% d) Qx

An investor places Rs 8,000 into an investment for ten ears:Thmpaund rate of interest
earned is 8% for first four years and 12% for the last 6 rs/-\'lhe end of the ten years the
investment (to the nearest Rs) is worth.

a) Rs.25,933 J‘;} Rs.17,829

c) Rs.20,631 Ldl Rs.21,483

A bank offers to pay 500,000 after8 vears if interest rate is 9% compounded annually then value
of money to be paid t6 bank today w il be?
a) Rs.250,933 b} Rs.347,829

c) Rs.217,63 \ d) Rs.360,498
A hank Is planmng to Offer unique product to its customers whereby it would pay Rs

250, UOD per annunﬁﬁran indefinite period commencing from the end of year 6. How much
arﬁ’ﬁ‘l.unt should thi I:lanl-: ask its customers to pay now, if the rate of interest that the bank can
pay, is 5% mmpuunded annually?

5.3, 1§1 221 b} Rs.3,547,829

Rs.3,917,631 d) Rs.3,960,498

5.30) Ho J'rnm:l'u.ll.fn::ull:l Kamran need to invest now in order to have Rs. 10 million after 10 years, if
the annual interest on the investment is 7.2% compounded quarterly?
a) Rs.4,247,239 b) Rs.5,855,536

c) Rs.4,898,791 d) Rs.5,000,000
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5.31) Rashid has savings of Rs.3.6 millions whereas Sajjad has savings of Rs.5.4 million. If Rashid invest
his savings @ 9% compounded quarterly whereas Sajjad invest his savings at 7% compounded
annually, in how many years would the value of Rashid’s savings exceed that of Sajjad’s savings.

a) 9 years b) 14 years

c) 19 years d) 24 years
Solution  https://www voutube.com/watch?v=L8EUbIPVmSI

Video name: Finance Part 01
Scan this QR for Complete sclution

Haroon has borrowed a certain amount at an interest of 12%compounded rm anﬁﬁally In
how many years the amount owed would double? v

a) 3 years b) 5 7’3"—\\ —/

c) 6 years d) LB years
\ ¥,

)
If present value of a unpaid bill of Rs, 650,000 reaches E—I_,:g_ﬁﬂ in 6 years, and interest rate

in last four year charged at the rate of 10% cnmpaunded annﬁ/lv So what interest should
charge in first 2 years compounded annyallv? ® NS

a) 8.2% \“?h) 5.54%

c) 4% - d) 7.24%

5.34) Faraz borrowed Rs. 1000,000 at simp Interest of 8.5% per annum. At the end of the loan period
he repaid a total ufe’ls. 1,510,000. Perj i0d of the loan was:
a) Syears9 rﬁerﬂhs b) 6 years

c) 6years 3 munths d) 7 years
A
Fahad is receiving interest from Doller bank limited (DBL) at 15% compounded semi-annually.
Eath hank limited, [EBL) has introduced a scheme whereby interest would be compounded
on a munthlv ba5|§' The minimum rate of interest that EBL should offer to motivate Fahad
\\Shlfl nfs in mvestment from DBL to EBL is:
a 14 06% b) 14.55%

S} . 15.00% d) 15.01%

5.36) Tom and Jerry both invested same amount for 8 years. If Tom's rate of return is 9% and Jerry’s
rate is 10% compounded annually then how much more percent amount Jerry will have after 8
years thanTom?

a) 1% b) 8%

c) 15.1% d) None of these
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If Naina and Maina both invested same amount for 6 years and the rate of interest are 9% and
10% compounded annually respectively. Then how much more percent amount Maina will have
after 6 years than Naina?

a) 1% b) 8%
c) 9.45% d) None of these

John and Johnson have invested same amounts in two different investment schemes. John is
getting a return of 9% compounded annually whereas Johnson gets a return of 10 "\
compounded annually, the amount of Johnson's interest over a period of six year w%;u:eed
the amount of John's interest by

a) 5.44% b) 5.63% P

c) 31.47% d) 13.95%

Ali and Kashif invested equal sum In two different banks at 9% a,@m_teresl compounded

annually. In6 years how much percent of sum will Kashif ear r'rgre thﬁ?ﬁli?

a) 9.45% b~ 8. §I}~f
>

c) 7.45% —fg""

A person wants to invest some mansﬂ:{rﬁ years. offered four different interests. Which
one isbetter?

a) 15% simple Interex/ b) 10% compounded annually
n
c) 9% compounded Semi-anndally d) 8% compounded monthly

An investment of 1, ‘ﬁgillion is made in a business for 4 years and gain is 0.5 million . Find rate of
gainunder compound interest?

a) 6.54% \/ b) 8.5%
) : y d) 9.4%

c
5.42) Ifp

hy

interes rstF_.'?
a) A\ s-.-5;;s b) 5.17%
\\4/\:’\,;}5% d) None of these
5.43)
a

{unt value'ls 1000000 and interest s 750000 in 4years and 10 months. Find the simple

Ali invests Rs.2 million and get 0.5 million at redemption. If n = 4, which is best?
7.15% monthly b) 7.23% bi-monthly

c) 8.1% simple interest d) 7.51%quarterly

5.44) Eram invested Rs.2m and recelved Rs.2.5m after 3 years. Calculate the rate of interest?
a) 7.51% compounded monthly b) 7.51% compounded quarterly

c) 7.51% compounded bi-monthly d) 7.51% compounded annually
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Kareem and Jaffer have invested same amounts in two different investment schemes. Karem is
getting a return of 8% compounded annually whereas Jaffer gets a return of 10% compounded

annually, the amount of Jaffer's interest over a period of six years would exceed the amount of
Kareem's interest by

a) 21.25% b) 17.25%
c) 31.47% d) 8.54%

A person invested some amount today @1.8% per quarter for 10 years find his i mv ent if he
receives Rs 10 million

a) 3.126 million b) 5.13 million \/
c) 4.899 million d) None of t 5e
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Chapter-6
DISCOUNTED CASH FLOWS: (Annuity, NPV & IRR)

Which of the following statement is CORRECT?
a) Perpetuity is a special kind of annuity b) It is impaossible to find the future value
that never ends of perpetuity

c) It is impossible to find the present value d) Bothaand b S
of perpetuity /%4

Which of the following statement is CORRECT? . E
a) Discounting estimates the present-day equivalent of a future’cash flow
time in the future at a given rate of interest O | N~
b) Multiplying by a discount factor is the same as multiplying'by a cn_‘l‘!_'lpounding factor
c) The present value of a cash flow is the recipient of its future value
d) Present value fails to appraise large projects with m’ultIpIe c%ﬁ'flows.

Do

a specified

If interest rate = 8%, R = 2,500 Find present value of pefpetuity.)
a) Rs.312,500 : }‘;‘;RS.MZ,SDD

c) Rs.500,500

" ;
If R = 170,000, r = 8% compounding annua ~Fin&the P.V at the end of 5'" year =?
a) Rs.5,635,373 A /' '}) 7 b) Rs.678,761

c) Rs.363,537 \/ d) None

A
Find Perpetuity, R -—'@500, r= 8% Compounding Quarterly.
a) Rs.123,537 b) Rs.563,537

c) Rs1125,000 ' d) Rs.433,537

S,

lf‘_R:: 3,0‘;!-0 for3 years, r= 8% Compounding Monthly, Find present Value.
D2Rs.83,537 b) Rs5.95,735
A F 4

d) Rs.65,537

?._\pla ns to invest Rs 5000 every year starting from today for next 3 years. Interest rate is 10%
per \nnum compounded annually. Future value of the annuity is:
al'  Rs16,500 b) Rs 17,050

c) Rs 17,600 d) Rs 18,205

Ali plans to invest Rs. 8,000 every year for 3 years starting from today. Interest rate is 10% per
annum compounded annually. At the end of year 3 he will receive:
a) Rs 26,480 b) Rs 26,328

c) Rs 29,128 d) Rs 31,944
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6.9)  Find the present value of Annuity Due, if R= 9,000 for 4 years, r = 10% compounding yearly.
a) Rs.31,381.67 b) Rs.33,543.27

c) Rs.223,537 d) Rs.123,544

An amount of Rs, 3000 Is due in 5 years from now. If the Interest rate is 6% compounded
semi- annually, what Is the present value?
a) 1822.32 b) 2232.28

c) 2032.18 d) 2432.28

N
If discount rate is 9% then the present value of Rs. X’ received at the end of each'year.for
the next five years is equal to?
a)  3.8% 4.24x

c) 4.45 xl/%\

If discount rate Is 10% then the present value of Rs X p ;able ;\uallv for 4 yearsis?
a) 4.17x __/3‘171

¢  6.25 d)kggsx

If the discount rate Is 11%, the pr lue of Q} recelved at the end of each year
for the next five years is equal ta*
a) 3.17X 4.10X

c) 3.7X

Calculate the pres nt alue of X at th rate of 8% compounded annually received at the end of
every yearfor4yea
a) 2.2x , b) 3.31X

c) :2;\\ d) None

M,
6.15) Il’é;scount ratq 1s"13%, The present value of Rs. X received at the end of each year for the next
/ four \rears Is quLLal to:
\fﬂ) j]x b) 3.16x
c) 3.6x d) 4.03x

D’

6.16) |If interest rate |Is 9% compounding monthly, regular payment R= 3,000 find perpetuity
a) Rs.300,000 b) Rs.400,000

c) Rs.250,500 d) Rs.550,000

6.17) Mr.Alinvested 200,000 in an account today. He also deposits 20,000 Quarterly in this account and
made first payment today. If the interest is 8% compound quarterly. What will be value after 5
Years.
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a) Rs.622,855 b) Rs.222,855
c) Rs.792,855 d) Rs.692,855

To increase Present value of praject the discount rate should be adjusted
a) Upward or downward depending upon b) Upward or downward depending upon
whether the required increase isless than the project duration
or more than 10%
c) Downward d) Upward
\ >
Mr. Rafi intends to create an endowment fund to provide for a yearly pensm mgmua every
year. If the fund is invested in high yielding securities at 12.5% compound Ifte rest, ﬁe amount of
endowment fund will be;
a) Rs.35,000 b) Rs 22 355

c) Rs.38,000 d) 00‘

A person invests 500,000 now and 20,000 every year at/\',’:w\unnum Find the total amount
after 10 years.
a) Rs.1,406,115 ] \—._,-Rs 1,615,619

o) Rs.1,507,000 J _} Rs.1,406,500

Saleem barrowed Rs. 500 oog,frn”m a han at Imple interest of 2% per month for a period
of 3 years. The principal is- p"‘rahle in equal munthly instaliments, along with interest.
Which of the following statement 15 l:ﬂrrect?
a) His manthly mstallment\muf«:':l be Rs. b) He would pay Rs. 100,000 per annum in
23,000{" . J interest
c) He wo\a have paid an additional d) At the end of year 1, his balance
amount of .3{1'0,000 by the end of 3 principal amount would be Rs.
4 333,333.33

Solution K
Video name: Fmance Part 01
Scanthis. QR Q_,fa'? Complete solution

\

6.22) t are the qualities of perpetuity?
3) used to find purchase price of share used to find value of maintenance fund

c) Used to find initial deposit required for All of these
pension scheme
6.23) From perpetuity we cannot find
a) Present Value Future value

c) Both None of these
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Ll e

ow much amount should bank require to collect fr

years. H

89% interest compounded annually? b) 100000
a) 54027

) 63017 S

6.25) Ashfag is planning to invest in a scheme whereby he would be required ttoj;;;;:
Rs 130,000 annually (at the start of the year) for 5 years. If the interes|th ra’?l
unded annually, what amount would he receive at the end of the 5 yea

compo b
a)  Rs842,435 b) Rs 951,952 N,
757082 |
) Rs964,952 d) Rs LOTETOEN

6.26) Imad is planning to invest in a scheme whereby he would be required-to invest Rs

150,000 annually (at the start of the year) for 5 vears..i/lff\,the \In't_érést rate is 7%
- ih

compounded annually, what amount would he receiveat.th;}ﬂi{ of the 5 year?
a) Rs 922,994 B)""\Rs802,500
)

c) Rs 642,000 \}Q Rs 862,611

6.27)  If the rate of interest is 9% per afinum compou \:_1_5 monthly, the value of perpetuity

of Rs 3,000 per month would bé:
a) Rs. 400,000 \ ¥ b) Rs. 300,000

c) Rs. 270,000 \_/ d) Rs. 360,000

6.28) If the rate of Inler‘eit.ls 9% per annUm com
t pounded monthly, the value of perpetuit
of Rs 3,200 per méat would be: ’ il

a) /55‘}36'65'3 b) Rs. 487,500
c) , ¥ “Rs-458,000 d) Rs. 35,556
\
6.29) é-me of interést is 8%
at | per annum compounded
Aﬂf R;%Stlp oo e ol p monthly, the value of perpetuity
a) . 375
/ PF 375,000 b) Rs. 187,500
c) Rs. 37,500 d) Rs. 31,250
6.30) Al .
) to 5:?::?: SD'LEW car and made a down payment of Rs. 50,000. He is further required
e e at the end of each quarter for five years. The cash purch icart
+ 11 2N quarterly payment include 12% interest compounded o
a) Rs 131,250 b) P e gar i nesty ts
54
c) Rs 262,500 d) Pt
Rs 525,000
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P

Raza wants to save money aver a period of ten years in order to meet the expenses to
be incurred on higher education of his son. He has recently invested a sum of Rs
200,000 and plans to further invest Rs 20,000 at the end of each quarter, which of the

following amount will be available to him at the end of lﬁth year if he earns a
profit of 6% per annum compounded quarterly?
a) Rs 1,448,161.56 b) Rs 1,321,027.61

c) Rs 952,457.74 d) Rs 718,018.61

TS

Government has issued a five years bond of Rs.200,000. On maturity the buye

Rs.300,000. If the current interest rate is 8% per annum, is purchasing thE bond Wﬂr!‘.jl?
a) Yes, as present value of Rs.300,000 ism b) No, as- present value of Rs.300,000 ig
than Rs.200,000 rnorethan Rs 200 000
c) Yes, as present value of Rs.300,000 is d) /Nn as| future value of Rs.200,000 ig

less than Rs.200,000 “more t]'lan Rs.300,000
Salma would require a sum of Rs. 300,000 after three earéo now and a sum of Rs.
500,000 after five years from now, for the purpose)::nf education of her son. She is
planning to deposit quarterly amounts in a ban'k acéohntﬂm which she would draw
the desired amounts at the required/tlme If the rate ofJnterest is 12% Compounded
quarterly, which of the following amuunts shuuldr\alma deposits at the START of each
quarter? . J
a) Rs 76,766 . Rs 74,530

o) Rs 31,797 N\ Rs 32,751

N
Solution  https://www.youtube.com/watch?v=LBEUbIPVmSI
Video name: Finance Part 01 r})

Scan this QR for Complete solutio

A\

s

6.34) fr eet A would pmwde annual inflows of Rs. 525,000 Rs. 648,000, Rs 853,000 and Rs
Dﬂ{} at the‘end of year 1 to 4 respectively, whereas project B would yield
annu‘ \nﬂows of Rs 947,000, Rs 1,155,000 and Rs 2,068,000 from year 1 to 3

b) 18.83%
d) 19.73%

A bank launched a new scheme where it offers 400000 per year for indefinite time after
8 years. How much amount should bank require to collect from customer today if it
offers 5% interest compounded annually?

a) 8 million b} 5.69 million

c) 5.41 million d) 5.6 million
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If the discount rate is 12%, The present value of Rs. X received at the end of each year
for the next five yearsis equal to:
a) 6x b) 5x

c) 3.6x d) 4.03x

Find the value invested now, if he received 8000 at the end of each year from year 4 to
year 12 at the rateof 11% compounded annually?
a) 51,939 b)

c) 27,119 d)

Two companies made profits from investments in different projects:
P
Year 1 Year 2 Year3,/
Company A 900,000 600,000 300,000,
Company B 1,200,000 200,000 400,000 \ )"~
Find the rate at which NPV of both companies will bei;_a;l_'g -

a) 29.37% (\\\b) 18.58%
c) 15.37% & - @d)' 16.33%

-

A company intends to Invesbié 3 million nta-a project which would yield 10,12 and 14
percent during three ye§ \respétively The company would also recover the
original investment after 3 year Ifthe company's cost of capital Is 10%, the NPV of the
project Is: _ y

a) Rs 139;:{{5 b) Rs 46,582

"
¢) Rs 1,046,582 d) Rs 3,139,745

] (]
""‘"'--\. >
Sorp@m

Video name: Finance Part 01
/Scanthis QR for.Complete solution
U 4

o

"company Iintends to invest Rs 3 million into a project which would yleld 10,12 and 14
percent during three years respectively. The company would also recover the
original investment after 3 years. If the company’s cost of capital is 8%, the NPV of the
project Is:

a) Rs 277,778 b) Rs 301,326

c) Rs 333,410 d) Rs 919,830
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A company invested 4 million. Interest rate was 10%, 12% and 14% per year for first,
second and third year respectively. Find NPV if cost of capital is 12%
a) 0.15 million b) 0.1563 million

¢)  0.2329 million d)  (0.0144) million

A company invested 4 million. Interest rate was 10%, 12% and 13% per year for first,
second and third year respectively. Find NPV if cost of capital is 10%

a) 0.15 million b} 0.1563 millien
c) 0.2329 million d) None of these \
A company invested 9 million. Interest rate was 8%, 12% and 14% ;!’ne’rﬁ?\ear for-fi'-rst,

second and third year respectively. Find NPV if cost of capital is 9% \

a) 0.15 million b) 021563 millian

b N —
c) 0.4522 million d) ._:\Qone?rftﬁese
\ 4

A company invested 5 million. Interest rate was 129 ,jg%"mgd 6% per year for first,
second and third year respectively. Find NPV if cost o‘fcépit'gl\ls 10%

a) 0.15 million \b} " 0.1563 million

s

>
c) 0.2329 million L d) 0.4816 million

Cash outflow = 3.0 million, €35 mi(1st year) 0.25 million (2nd) and
2.25 million (3™ year). Find IR ) 4
a) 2.876% b) 5.897%

0  8.746% (G d)  6.845%

2.5 millia,nﬂsh ou (Wo tash Inflows of year 1, 2 and 3 are 2 million, 2.9 million, 0.5
million féspectively. Find IRR

a) ¢ 7.38% N b) 9.38%
.c’/>\5\|12% d) 10.38%
6. '\A project.casfing Rs. 3 million is expected to generate cash Rs. 0,15 million Rs. 0.25
\\f\{i‘llion and Rs. 3.35 million at the end of each of the next threes respectively. The IRR of
he project is
2) 15.27% b) 7.51%

c) 14.01% d) 8.16%

6.48) A project costing Rs. 2 million expected to yield Rs. 100,000 Rs. 200,000 and Rs.
2,300,000 at the end of each of the next threes respectively. The IRR of the project is
a) 6.7% b) 1.7%

¢) 8.7% d) 9.7%
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[MATHS, Important Questions, KEY]
(BY: HM HASNAN) [CFM (UK), CEMA, MA (ECO)]

Chapter-1
Co-ordinate System & Equation of Straight Line:
4.1) B 4.2) B 43) A 4.4) C
45) A 46) A 4.7) B 48) A
4.9) B 4.10) D 4.11) A 4.12) B
4.13) C 4.14) D 4.15) B
Chapter-02
MATHEMATICAL & QUADRATIC EQUATIONS:
2.1) C 2.2) B 2.3) C 2.4) D
2.5) D 2.6) C 2.7) A 2.8) B
2.9) D 2.10) B 2.11) B 2.12) A
2.13) A 2.14) A 2.15) B 2.16) A
2.17) C 2.18) B 2.19) C 2.20) C
2.21) C 2.22) B 2.23) B 2.24) B
2.25) A 2.26) C 2.27) B 2.28) B
2.29) C 2.30) C 2.31) C 2.32) A
2.33) A
Chapter-03
MATHEMATICAL PROGRESSION
1.1) C 1.2) B 1.3) C 1.4) C
1.5) C 1.6) A 1.7) A 1.8) D
1.9) C 1.10) B 1.11) C 1.12) B
1.13) B 1.14) C




LINEAR PROGRAMMING:

Chapter-4

41) B 4.2) D 4.3) B 4.4) C
4.5) B 4.6) B 4.7) A 4.8) D
4.9) A 410) ¢ 411) B 412) A
413) C 4.14) A 415) D 4.16) B
417) A 4.18) 4.19) 4.20)
Chapter-5
TIME VALUE OF MONEY

5.1) D 5.2) A 5.3) C 5.4) B
5.5) C 5.6) C 5.7) A 5.8) D
5.9) A 5.10) D 5.11) C 5.12) B
5.13) B 5.14) C 5.15) A 5.16) B
5.17) A 5.18) A 5.19) C 5.20) C
5.21) A 5.22) D 5.23) B 5.24) B
5.25) A 5.26) A 5.27) D 5.28) A
5.29) C 5.30) C 5.31) C 5.32) C
5.33) B 5.34) B 5.35) B 5.36) C
5.37) C 5.38) D 5.39) A 5.40) A
5.41) C 5.42) A 5.43) D 5.44) B
5.45) C 5.46) C




Chapter-6
DISCOUNTED CASH FLOWS

(Annuity, NPV & IRR)

5.1)D 5.2) A 5.3) A 5.4) B
5.5) C 5.6) B 5.7) D 5.8) C
5.9) A 510) B 511 A 512) B
513) C 514) B 515) A 516) B
517) C 518) C 519) D 520) B
521) D 522) D 523) B 524) D
525) B 526) A 527) A 528 A
529) A 530) B 531 A 532) A
533) C 534) A 535) B 536) C
537) B 538) B 539) A 5.40) B
541 D 542) B 543) C 544) D
545) D 546) C 547) D 5.48) D
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[STATS, Important Questions] [CH-07]
By:(HM Hasnan)

Chapter-07
Collection and Presentation of Data:

7.1)What is Raw data?
a) Data often collected in large volumes Originally collected by investigator/ The
data collected in surveys
c) Unprocessed data/ Results of sampling All of these

enquiries or census. /-
/ \
£ .

7.2)Which of the following is correct? R .
a) The data which is collected specifically Results of samipling enquiries or a
F . F
for ongoing investigation is called raw census is called pﬂmary data

data (/3"/
c) The data which is relevant to the Both [b) and (c]
investigation but was collected previously

for some other purpose is called \
secondary data s

7.3)Which of the following is correct? Vs /f *\?- '
a) Results of sampling enquiries toa censusis | b] The data which is collected specifically for
called raw data \ (_/ ~the ongoing investigation is called primary
V4 / data
c) The data which is storedafter classmcatlon d) Both (a)and (b)
is called secondary data. « 7

7.4)The amount of milk produced by a Cow isy)
a) Quantitative variable ’ Discrete variable

N
c) Continuous variable Qualitative variable

y
1\ 7

o
R L
7.5)Height of tandidates ina school is

2 Discrete variable Continuous variable

¢ Constant variable All of these
‘;/ . /,.' ’
7.6)When data has'an order it can be referred to as [ordinal data.]

>

7.7)Data collected can contain multiple observations but would be particular to that point in time is
called [Cross-sectional data]

7.8)Which of the following is NOT the example of unstructured data? Select any TWO
a) customer addresses b) Email messages

c) survelliance videos d) product size
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RISE [STATS, Important Questions] [CH-07]
e By:(HM Hasnan)

7.9)Which of the following is NOT the characteristic of good data.
a) Complete b} Timely

c) Short d) Reliable and consistent

7.10) The arrangement of data into classes according to the size and magnitude Is
a) Frequency b) Frequency distribution

c) Relative frequencies d) All of these //- \
A )
7.11) Which of the following statement Is true about continuous variable P \ p’
a) Ages of students in a class b) Ages of peopleln Paklstan

o

¢) Height of all the students in world d) ALL of these -

o f o
7.12) Which of the following statements as regards Histogram is correct?\f
a) A vertical rectangle is drawn to b) Thefrequency of the class Is represented by
represent each class of the frequency Qhe hEIght-lufrectangles
distribution
c) Histogram cannot represent continuous /d}\Both {a] and (b)
data / / -

N\ &

7.13) Which of the following graph represent grouped frequency distribution?
a) Piechart - / )» b) Histogram

c) Simple bar chart = _ d} Allof these

Ogive diagram Is used for what?
a) Cumulative frequean dlstrlbution b) Mid-points

c) Class Ilmlts : ) d) Allof these
£ \ \
7.15) whlch of the f:i!iowmg statements is/are true about population?
h] It is"desired to consider all the population in an observation.
/ [II) ln an o}iser\ratfnn we consider all of the population.

P

7
. 3) Both statements are correct b) Both statements are not correct

//€) Only statement (i) is correct d) Only statement (ii) is correct

7.16) What are the specifications/characteristics of Ogive?
a) Cumulative frequency and C.B are used b) Median, quartiles deciles & percentiles can
be determined from Oglve
¢} Botha&b d) None of these
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[STATS, Important Questions] [CH-07]
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The median of a given frequency distribution is found graphically with the help of:
a) Histogram b) Pie Chart

c) Frequency curve d} Ogive

The graph obtained by joining the mid points of the tops of adjacent rectangles in histogram is
called ?
a) Histogram b) Pie Chart

c} Frequency Ploygon d) Ogive

Which of the following statements is correct? n \

a) Bar charts are usually used for plotting b) Bar charts are,u‘sfuall_v used for plotting
continuous data discrete data () o

¢) Bar charts can be plotted horizontally or d) Both (b) and (c)
vertically. | \-\ 5

7.20) Which of the following statements regarding Bar chart 15 cnrrect? >

a) Bar charts are usually used for plottlngeontlnueus data /

b) Bar charts are usually used to compare thmgs between different groups or to track
changes over time y.  d ~

c) Bar charts are usually used for plgtung ver‘tical ata only

d) In Bar chart, one axis represent first categorv and Other axis represents second category

being compared ) P
7.21) Which of the following statements is correcl?
a) An ogive is the graph of a cum\u[a’dve 4 b) Median of a grouped frequency distribution
frequency distribution \1 . can be found by constructing an Ogive
¢) An Ogive is constructed bwommg the mid d) Both{a)and (b)
points of the top of ea:h rectangles ofa
hlstegram with stra |ght Ilnes
L . 7
7.22) If peak ofa hlstogram is at center and frequency Is distributed evenly throughout data, then
data is
/ a) Pusitwelv skewed b) Negatively skewed

4 N
[Va.cls Normallv distributed d) None of these
7.23)  Construction of a frequency distribution:
a) Ms one of the most common means of b) Begins by recording the number of
summarizing data times a particular value occurs

¢) Is the basis for construction of a d) All of the above
percentage distribution
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[STATS, Important Questions] [CH-07]
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7.24) Bargraph?
a) Can be used for the continuous b) Can be vertical
distribution

¢) Can be horizontal. d) Both Vertical and Horizontal

7.25) Which of the following statements is/are correct?
(i) Agrouped frequency distribution of discrete data has gaps between the classes.
(ii) Discrete data can be converted into continuous data. f
-

a) Both statements are correct b) Both statements are'not correct

c) Only statement (i) is correct d) Only statement{h Iscarrect

\_,
Which of the following statements is/are true about discrete data? =
{iy There is no gap between them. L\ \
(i) Mid-point is calculated by dividing the upper and lower limit In-each class

- —-.-_..-r'\._‘
a) Both statements are correct ]‘“'Both statements are not correct

c) Only statement (i) is correct .--" \7d} Onl',r statement (ii) is correct
.f . -r
7.27) Which of the following stateménts is,"are currer.t?
(i) A grouped frequency dlstributuon of dnscrete data has gaps between the classes,

{ii) In class boundaries, there is.no gap between the classes.

a! ,

a) Both ster.ei'nents are correct, / b) Both statements are not correct

™
c) Only statement (i) is correct d) Only statement (ii) is correct

7.28)  Which oflhe fnllowing statements is/are true about discrete data?
(i)~ There is Bap y between them.
A \Mid-pnfnt Is calculated by dividing the upper and lower limit in each class

;a] Bnth statements are correct b) Both statements are not correct

c) On y statement (i) Is correct d) Only statement (ii) is correct
-
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Chapter-08
Statistical Measures of Data:

8.1) Average means?
a) Summarize the concentration of a set of b) Measures the concentration of aset of
data data
c) Measures the scatterdness of a set of d) None of these
data

8.2) Whatis true about mean?
{i] Most repeated value
(i) The bestsingle figure to describe data
a) Both statements are carrect Both statements are not correct

c) Only statement {i) is correct Only statement {ii) is correct

8.3) Whatis true about mean?
a) Best average to describe data b) Itis affected by extreme values

¢) Further algebraic manipulation is possible d) All of these

8.4) Consider the following statements about Mean.
(i) It must be one of the values found in the data
(11) In case of ungroup data, there may be more than one mean.

Which of the above statements isfare correct?
a) Both statements are correct Both statements are not correct

c) Only statement (i) is correct Only statement {ii) is correct

8.5) Which of the following is correct about Mean?
a) Itis the most frequently occurring figure It must be one of the values found in the
data
c) Itis usually considered as the best single In case of ungrouped data, there may be
figure to represent the single figure to more than one mean
represent the data

8.6) Which of the following is/are True about mean?
(i) The best single figure to describe data
(ii) Percentile is a measure of dispersion.
a) Both statements are carrect Both statements are not correct

c) Only statement (i) is correct Only statement (ii) is carrect
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8.7) Which of the following is correct about median
a) There can be more than one medianin a Median will be affected by increase or
data decrease in extreme value
c) Itdivides the datain two equal partsin None of these
terms of values

8.8) Which of the following is correct about median
a) Itis usually influenced by extreme value b) It can be calculated by using Ogive

¢) There may be more than one median d) Bothbandec

8.9) Which of the following Is affected by change of origin as well as scale?
a) AM b} GM

¢) HM d) Allof these

8.10) Which of the following statement is CORRECT about Median?
a) The upper quartile is also called the median  b) It is a measure of central tendency

c) Itisthe middle value no matter the data is d) The position of the median can be found by

arranged In any order using the expression 3tn2+11

8.11) G.Mcan be located graphically by:
a) Histogram b} Pie Chart

c) Frequency curve d) None of these

8.12) Find empirical relationship between mean median and mode:
a) Mean =3mode -2 median b} Mode = 3median - Zmean

c) Median = 3mode - 2 mean d) Mode = median - 2 mean

8.13) Following data Is related to salary of two managers
Weight | Salary M1 Salary M2

5 10,000 8,000

3 15,000 10,000
2 20,000 12,000
1 30,000 20,000
Find weighted arithmetic mean of both managers salarles;

a)] A=14,000,B=10,364 b) A=15,500,B = 10,363
¢) A=15,000,B8=10,364 d) None of these
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8.14) The geometric mean of the following data is
Class Boundary 10-12 12-14

Frequency 14 26 42

a) 1.17
c) 14.70

b) 14.53
d) 14.87

Find harmonic mean of 78, 79, 80
a) 78.01

c) 78.99

b) 79.01
d) 785

Detail of leaves during 2008 by the top three students in a class is as follows:
Name of students Ali Asif Anila

Number of leaves 7 5 3

Harmonic mean of the number of leaves taken by the above students Is:
a) 5 b) 0.68

¢) 0.20 d) 4.44

Arman got a rise of 12%, 20% and 18% in 2011, 2012 and 2013 respectively. The
average annual increase rate is:
a) 16.5%

o 17.1%

b) 16.62%
d) 17.33%

If a frequency distribution is skewed to the left (negatively skewed), then
a) Mean < median > mode b) Mean > median > mode

c¢] Mode > median > Mean d) Arithmetic mean < geometric mean <

harmonic mean

A sample survey conducted by an organisation obtained the following data on the

average number of items that persons in the various age group visit a physician each year:

Age Group Number of persons Mean number of
(years) In the sample visits

Less than 5

50

2.1

5—20

115

1.6

21—60

155

2.6

61 and over

90

3.2

Calculate the mean number of visits to the physician:
b) 2.656

a) 2.456
c) 2.896

d) None of the above
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Starting salarles of a group of fresh graduates is as follows:
65,000, 48,000, 49,000, 40,000, 58,000, 55,000, 60,000, and 62,000

Median of the above salaries is:
a) 58,000 b) 54,625

¢) 56,500 d) 55,000

The following data shows the weight (in grams, round to the nearest gram) of 35 randomly

picked oranges from a farm:

155 161 164 166 168 170 172 172 173 175
177 178 178 179 181 182 182 184 186 188
189 192 195 196 197 198 203 206 208 209
210 214 218 221 243
The mean and median of the above data is:
a) 186.50and 182 b) 184.50and 183
c¢) 188.29and 184 d) None of the above
8.22) Following data is given:
2, 10, 15, 25, 18, 3.5, 16, 45, 50, 25, 45, 40, 0.2, 40, 3, 42, 45, 13, 17, 18, 25, 15, 22, 23, 25, 39, 8,
12, 25, 16, 18, 40, 32, 3.5, 3, 3, 36, 29, 26, 22. Find mean and median
a) Mean=21.25, median=20 b) Mean=20.12, median=22
¢) Mean=22.38, median =22 d) Mean=.12, median = 18
8.23) The following stem and leaf display shows the number of units produced in a day:
Stem Leaf
3 1
4 0
5 4,7
6 2,2,6
7 0256,99
8 579
Based on above , which of the following stamen is/are true?
(i) The range Is 58
{ii) The median Is 71
(li) The meanlis66
a) lonly b) Il only
c) landll d) tandlll
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8.24) The stem and leaf display constructed from weight(kg) of 15 persons is given below:

Stem Leaf

4 5,23

5 4,7,4,8,9,5

6 6,231

7 57
Find Median:
a) 59
c) 54

8.25) Calculate mode of the following data:

b) 58
d) 58.25

15,16,23,23,23,25,25,25,27,27,27,28,28,28,28,28,29,29,29,29

a) 25 b) 27
c) 28 d) 29
B.26) A cricketer score in a cricket series as 51,15,0,3,85,15,51,38. Find mode
a) 15 b) 51
c) 15551 d) Nomode

8.27) 21,21,21,21, 28, 28, 28, 28, 28, 29, 29, 29, 29. Find mode of the data?

a) 28 only
c) 21 & 29 only

b) 21 & 28 only
d} None of these

8.28) 81, 81, 81, 81, 21, 21, 21, 21, 21, 90, 90, 90, 90. Find mode of the data?

a) 2l1only
c) 21 &90only

b) 21 & 81only
d) None of these

8.29) The stem and leaf display constructed from weight(kg) of 15 persons is given below:

Stem Leaf

4 52,3

5 4,7,4,8,9,5

6 6231

7 57
Find Mode:
a) 77
c) 64

b) 62
d) 54

9 |CH-08

BY: HM Hasnan [CFM (UK), CFMA, MA (Eco)]

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

[STATS, Important Questions] [CH-08]
By:(HM Hasnan)

A set of exam scores is represented by the following stem and leaf display:
8

The mode for the data set Is:
a) 75 by 71

) 78 d) 69

8.31) Following Is the data related to number of persons per house In a village town:

No. of persons per house | 1 2 3 4 5 6 7
No. of houses 25 114 120 | 90| 50| 41| 20

The mean, median and modal number of persons per house are:
a) 3.67,3,3 b) 3.62,4,5

¢) 3.67,3,5 d) 3.42,3,3

The scores obtained by six students In a set of examination are 80, 40, 50, 72, 45, and
81. These scores are changed by 15%. What will be the effect of these changes on the
mean and standard deviation?
a) Mean and standard deviation will remain b) Mean will increase by 15% but standard
unchanged deviation will remain unchanged.
¢) Mean and standard deviation both will d} Mean will remain unchanged but standard
increase by 15% deviation will increase by 15%

If every item of the data is increased by 5% what is the effect on mean and standard

deviation?

a) Mean is increased by 5%, SD increased by b} Mean remain same, 5D increased by 5%
5%

¢) Meanlsincreased by 5%, SD remain d} Meanis increased by 5%, SD increased by
unchanged 25%

Mean of 15 observations Is 35. If 5 Is deducted from each observation and then It Is multiplied
by 3. Find the Mean of new observation:
a) 35 b) 110

c) 90 d) 30

8.35) In positive skewed distribution, the Median Is than Mean
a) Less b) More

¢) Equal d) None of these
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If date one has mean X =S50 and date two has mean Y =75and a constant 3 is added to
both of these data then their means will?
a) Increase by 3 times b) Increase by 3 units

c) Decrease by 3 times d) Decrease by 3 units

Find upper quartile from the following data:
11, 19,19,20,21,24,25,25,36
a) 20 b) 25

c) 19 d) 24

If the median is 49.21 and the two quartiles are 37.15 and 61.27, what can be said of the
skewness?
a) Distribution is positively skewed b) Distribution is negatively skewed

c) Distribution is symmetrical d) None of the above

Consider the below box plot and identify which of the following statement s correct?

I HM Hasnan

2 10 14

a) The distribution is skewed towards left b) Inter-quartile range is 12

c) The lower quartile is 10 d) The Upper quartile is 20

8.40) In box and whisker plot. How much area is covered below Pgg
a) 40 b) 60

¢ 59 d) 41

In box and whisker plot how, much area is covered in whisker {hinge) before the box.
a) 75% b) 25%

c) 50% d) 100%

In boxplot, the box represents of the observations.
a) 25% b) 50%

) 75% d) 90%
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8.43) Consider the following observations

95 103 97 130 96 73 78 95 89 68
a5 62 659 83 118 112 55 87 93 117

The number of observations lying in the limit mean 20 are:

a) 20 b) 19

c) 18 d) 17

8.44) If frequency distribution is positively skewed then show the relation between mean, median and
mode
a) Mean = median = mode b) Mean < median < mode
€) Mean > median > mode d) Median > Mean > mode

8.45) For distribution is skewed to left tall as (negatively skewed) Is.
a) Mean = median = mode b) Mean < median < mode

c) Mean > median > mode d) Median > Mean > mode

8.46) Following data is given find mean and SD of 36,26,19,5,4
a) Mean=18,5D=12.28 b} Mean=16,5D=11.28

¢) Mean=28,5D=14 d) Mean=20,5D=14.28

8.47) Find variance of the following data 3,9,9,6
a) 6.1875 b) 5.1875

c) 4.1875 d) 3.1875

8.48) Variance can never be
a) 0 b) 1 '

c) Positive d) Negative

8.49) 10 readings of temperature are given below:
-20,-18,-17, -15,-2,-12, -8, -5, -4, -12

a) Variance of this data is negative

b} WVariance can be positive or negative

¢) Variance must be at least 0

d) Variance can't be calculated as all the values are negative

8.50) The quantity which expresses the standard deviation as a percentage of mean Is Called:

a) Co-efficient of variation b) Co-efficient of dispersion
c) Co-efficient of correlation d) Co-efficient of Quartile
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Which shapes exactly bell shaped
a) Symmetric Distribution b) Normal Distribution

c) Rightly Skewed d) Botha&hb

For a data set, median is 49.27 and Q; and Qs are 37.21, 61.33 respectively. Determine
if they are
a) Rightly Skewed b) Paositively skewed

¢) Symmetric Distribution d) Negatively skewed

The Standard deviation of X is 4. Find the Variance of Y if ¥ = 5X/3+10
a) 54.44 b) 44.44

c) 1111 d) 2111

Detail of minor claims of an automobile’s insurance company is as below:
Claim (Rs.) 1-1000 1001 - 2000 2001-3000 | 3001-4000 | 4001-5000

No. of claims 5 30 60 70 80

The Standard Deviation and variance for the insurance companies above data is:

a) 1093 and 1,194,502 b) 1,194,502 and 1,093
c) 1093 and 33 d) 3267 and 57

Which of the following statements as regards to variance Isfare correct?
(i) It can never be smaller than the standard deviation
(ii) It can never be zero.
a) Both statements are correct b) Both statements are not correct

c) Only statement (i) is correct d) Only statement (ii) is correct

Which of the following statements as regards to variance isfare correct?
(i)  Itisalways smaller than the standard deviation

(ii) It can never be negative.
a) Both statements are correct b) Both statements are not correct

¢) Onlystatement (i} is correct d} Only statement (ii) is correct

Who has greater consistency.

Asif Scare 10 70 80
Abid Score 40 50 45
a) Abid b) Asif

c) Equal d) None
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8.53) The Standard deviation of X is 4. Find the Variance of Y if Y = 5X/3+10
a) 54.44 b) 44.44

¢ 1111 d) 2111

8.54) Detail of minor claims of an automobile’s insurance company is as below:
Clalm (Rs.) 1-1000 1001 - 2000 2001 -3000 | 3001-4000 | 4001-5000
No. of claims 5 30 60 70 80

The Standard Deviation and variance for the insurance companies above data is:

a) 1093 and 1,194,502 b) 1,194,502 and 1,093
¢) 1093 and 33 d) 3267 and 57

8.55) Which of the following statements as regards to variance is/are correct?
(i) It can never be smaller than the standard deviation
(ii) It can never be zero.
a) Both statements are correct b) Both statements are not carrect

c) Only statement (i) is correct d) Only statement (ii) is correct

8.56) Which of the following statements as regards to variance is/are correct?
(1)  Itis always smaller than the standard deviation
(ii) It can never be negative.

a) Both statements are correct b) Both statements are not correct
¢) Onlystatement (i} Is correct d) Only statement (i) Is correct
8.57) Who has greater consistency.
Asif Score 10 50 70 80 90 100
Abid Score 40 30 50 45 0 10
a) Abid b) Asif
c) Equal d) None
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8.58) Following Is the data
Companies Employees Salaries Standard Deviation
A 200 25 million 25,000
B 150 36 million 8,000
Which company is more stable?
a) CompanyA b) CompanyB
c) Cannot be determined d) Both are same

B.59) Following data Is given for two sales department of a multinational company

Department Sales force Revenue SD
A 200 10 million 25000
B 150 36 million 80000
In your opinion which department is more consistent?
a) Department A b) Both
c) Department B d) None

8.60) Team A scored an average of 205 runs in twenty-one-day International matches with a
standard deviation of 10 whereas Team B scored an average of 190 runs in same one-day
international matches with a standard deviation of 8. Which of the following is correct?
a) Team A is more consistent b) Team B is more consistent

c) Both teams are equally consistent d) Consistency cannot be determined from the
above information
8.61) Following data is given 3,6,9,6, 3 . find C.V (Coefficient of variance).
a) 45.17% b) 43.5%

¢) 42.75% d) 41.57%

8.62) |f the laboratory techniclan A completes 40 analyses with a standard deviation of 5 and
technician B completes 160 analyses per day with standard deviation of 15, find which
employee shows less variability.
a) Technician A b) Technician B

c) Both Technician are equally d) Consistency cannot be determined from the
above Information

8.63) Types of dispersion which measures the varlation present among the values with same unit
or square of units of variable?

a) Absolute Dispersion b) Relative Dispersion
c) Distribution d) Allof these
8.64) Which of the following Is NOT a measure of Dispersion?
a) Therange b) The 50" percentile
c) The standard deviation d) The semi inter-quartile range
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By:(HM Hasnan)
8.51) Which shapes exactly bell shaped
a) Symmetric Distribution b) MNormal Distribution
c) Rightly Skewed d) Botha&b

8.52) For a data set, median is 49.27 and Q, and Qs are 37.21, 61.33 respectively. Determine

if they are
a) Rightly Skewed b) Positively skewed
c) Symmetric Distribution d) Negatively skewed

8.53) The Standard deviation of X is 4. Find the Variance of Y if Y = 5X/3+10
a) 54.44 b) 44.44

¢ 11.11 d) 21.11

8.54) Detail of minor claims of an automobile’s insurance company is as below:
Claim (Rs.) 1-1000 1001 - 2000 2001 -3000 | 3001-4000 | 4001-5000

No. of claims 5 30 60 70 BO

The Standard Deviation and variance for the insurance companies above data is:

a) 1093 and 1,194,502 b) 1,194,502 and 1,093
c) 1093 and 33 d) 3267 and 57

8.55) Which of the following statements as regards to variance isfare correct?
(1) It can never be smaller than the standard deviation
(ii) It can never be zero.
a) Both statements are correct b) Both statements are not correct

c) Onlystatement (i) is correct d) Only statement {ii} is correct

8.56) Which of the following statements as regards to variance is/are correct?
(i) Itis always smaller than the standard deviation

(ii) It can never be negative.
a) Both statements are correct b) Both statements are not correct

c) Onlystatement (i) is correct d) Only statement (ii) is correct

8.57) Who has greater consistency.

Asif Score 10 50 70 30 90 100
Abid Score 40 30 50 45 0 10
a) Abid b) Asif
c) Equal d) None
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8.58) Following Is the data
Companies Employees Salaries Standard Devlation
A 200 25 million 25,000

B 150 36 million 8,000
Which company Is more stable?

a) CompanyA b) CompanyB

¢) Cannot be determined d) Bothare same

8.59) Following data is given for two sales department of a multinational company

Department Sales force Revenue SD
A 200 10 million
B 150 36 million

In your opinion which department Is more consistent?
a) Department A b) Both

c) Department B d) None

Team A scored an average of 205 runs In twenty-one-day internatlonal matches with a
standard deviation of 10 whereas Team B scored an average of 190 runs in same one-day
international matches with a standard deviation of 8. Which of the following Is correct?
a) Team Ais more consistent b) Team B is more consistent

¢} Both teams are equally consistent d) Consistency cannot be determined from the
above information

Following data is given 3,6,9,6, 3 . find C.V (Coefficient of variance).

a) 45.17% b) 43.5%

c) 42.75% d) 41.57%

If the laboratory technician A completes 40 analyses with a standard deviation of 5 and

technician B completes 160 analyses per day with standard deviation of 15, find which
employee shows less variability.

a) Technician A b) Technician B

c) Both Technician are equally d) Consistency cannot be determined from the
above information

8.63) Types of dispersion which measures the variation present among the values with same unit
or square of units of variable?

a) Absolute Dispersion b) Relative Dispersion
¢) Distribution d) Allof these

8.64) Which of the following is NOT a measure of Dispersion?
a) Therange b) The 50™ percentile

¢) The standard deviation d) The semi inter-quartile range
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8.51) Which shapes exactly bell shaped

a) Symmetric Distribution b) Normal Distribution

t) Rightly Skewed d) Botha&b

8.52) For a data set, median is 49.27 and Q, and Q are 37.21, 61.33 respectively. Determine

if they are
a) Rightly Skewed b) Positively skewed

¢) Symmetric Distribution d) Negatively skewed

8.53) The Standard deviation of X s 4. Find the Variance of Y if Y = 5X/3+10
a) 54.44 b) 44.44

¢ 1111 d) 21.11

8.54) Detail of minor claims of an automobile’s insurance company is as below:
Clalm (Rs.) 1-1000 1001 - 2000 2001 - 3000 | 3001-4000 | 4001-5000

70 80

No. of claims 5 a0 60

The Standard Deviation and variance for the insurance companies above data is:

a) 1093 and 1,194,502 b) 1,194,502 and 1,093

c¢) 1093 and 33 d) 3267and57

8.55) Which of the following statements as regards to variance isfare correct?
(i) It can never be smaller than the standard deviation

(ii) It can never be zero.
a) Both statements are correct b) Both statements are not correct

c) Only statement (i) is correct d) Only statement (ii} is correct

8.56) Which of the following statements as regards to variance is/are correct?
(i)  Itis always smaller than the standard deviation

(ii) It can never be negative.
a) Both statements are correct b) Both statements are not correct

¢) Only statement (i) is correct d) Only statement (il) is correct

8.57) Who has greater consistency.

Asif Score 10 50 70 80 80 100
Abid Score 40 30 50 45 0 10
a) Abid b) Asif
c) Equal d) None

13 |CH-08 BY: HM Hasnan [CFM (UK), CFMA, MA (Eco)]

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k
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8.51) Which shapes exactly bell shaped
a) Symmetric Distribution b) Normal Distribution

c) Rightly Skewed d) Botha&hb

For a data set, median is 49.27 and Q, and Qs are 37.21, 61.33 respectively. Determine

ifthey are
a) Rightly Skewed b) Pasitively skewed
c) Symmetric Distribution d) Negatively skewed

The Standard deviation of X s 4. Find the Variance of Y if ¥ = 5X/3+10
a) 54.44 b) 44.44

c 11.11 d) 2111

Detail of minor claims of an automobile’s insurance company is as below:
Claim (Rs.) 1-1000 1001 - 2000 2001-3000 | 3001-4000 | 4001-5000

5 30 60 70 80

No. of claims

The Standard Deviation and variance for the insurance companies above data is:

a) 1093 and 1,194,502 b) 1,194,502 and 1,093
¢) 1093 and 33 d) 3267 and 57

Which of the following statements as regards to variance is/are correct?
(i) It can never be smaller than the standard deviation
{ii) It can never be zero.

a) Both statements are carrect b) Both statements are not correct

c) Only statement {i} is correct d) Only statement {ii} is correct

Which of the following statements as regards to variance is/are correct?
(i) It is always smaller than the standard deviation
{ii) It can never be negative.

a) Both statements are correct b) Both statements are not correct

c) Onlystatement {i)is correct d) Only statement (ii) Is correct

Who has greater consistency.

Asif Score 10 50 70 80 90 100
Abid Score 40 30 50 45 0 10
a) Abid b) Asif
c) Equal d) None
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8.58) Following is the data
Companies Employees Salarles Standard Deviatlon
A 200 25 million 25,000

B 150 36 million 8,000
Which company is more stable?
a) CompanyA b) Company B

c¢) Cannot be determined d) Both are same

B.59) Following data is given for two sales department of a multinational company

Department Sales force Revenue SD
A 200 10 million 25000
B 150 36 million 80000
In your opinion which department is more consistent?
a) Department A b} Both

c) Department B d) None

8.60) Team A scored an average of 205 runs in twenty-one-day international matches with a
standard deviation of 10 whereas Team B scored an average of 190 runs in same one-day
international matches with a standard deviation of 8. Which of the following is correct?
a) Team A is more consistent b) Team B is more consistent

¢) Both teams are equally consistent d) Consistency cannot be determined from the
above information

Following data is given 3,6,9,6, 3 . find C.V (Coefficient of variance).

a) 45.17% b) 43.5%

c) 42.75% d) 41.57%

If the laboratory technician A completes 40 analyses with a standard deviation of 5 and

technician B completes 160 analyses per day with standard deviation of 15, find which
employee shows less variability.

a) Techniclan A b) TechnicianB

c) Both Techniclan are equally d) Consistency cannot be determined from the
above information

8.63) Types of dispersion which measures the variation present among the values with same unit
or square of units of variable?

a) Absolute Dispersion b) Relative Dispersion

¢) Distribution d) All of these

8.64) Which of the following is NOT a measure of Dispersion?
a) The range b) The 50™ percentile

¢) The standard deviation d) The semlinter-quartile range
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Which of the following statements is/are correct?
(i) Range is a measure of dispersion.

(ii)  Percentile is a measure of dispersion.
a) Both statements are correct b) Both statements are not correct

t) Only statement (i) is correct d) Only statement (ii) is correct

Which of the following statements is/are correct?
(i) Semi-inter Quartile Range is a measure of dispersion.

(ii))  Percentile is a measure of dispersion.
a) Both statements are correct b) Both statements are not correct

c) Only statement (i) is correct d) Only statement (ii) is correct

Which of the following statements Is/are correct?

(i) Percentile is @ measure of dispersion.

(ii) Quartile is a measure of dispersion.
a) Both statements are correct Both statements are not correct

¢) Only statement (i) is correct Only statement (i) Is correct

Which of the following statements is/are correct?
(i) Range is a measure of dispersion.
(i) Inter Quartile Range Is a measure of dispersion.
a) Both statements are correct b) Both statements are not correct

c) Onlystatement (i) is correct d) Only statement (ii) is correct

Which of the following statements is/are correct?
(i) Rangeis a measure of dispersion.
(i} Semi-inter Quartile Range is a measure of dispersion.
a) Both statements are correct b) Both statements are not correct

c) Onlystatement (i) is correct d) Only statement (ii) is correct

Which of the following statements is/are correct?
(i) Percentile is a measure of dispersion.

(ii)  Semi-inter Quartile Range is a measure of dispersion.
a) Both statements are correct b) Both statements are not correct

c) Onlystatement (i) is correct d) Only statement (ii) is correct
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8.71) Which of the following statements Is/are correct?
(1) Percentile is a measure of dispersion.

(ii)  Range is a measure of dispersion,

a) Both statements are correct b) Both statements are not correct

¢) Only statement (i) is correct d) Only statement (ii) is correct

8.72) The mean and standard deviation of a data of 100 observations were found to be 104
and 4.7 respectively. Later, error was detected in three records as enumerated below:
Sr.No Correct Figure Amount Taken
(as per Original record) (for computation)
58 151 115
72 78 87
89 98 89

You are required to find correct mean and standard deviation.
a) 105.21and6.2

b} 107.5and 7.2
c) 104.36and6.7

d) 102.36 and 5.2

https://www.youtube.com/watch?v=xbna7pvoulY&t=149s

{For Selution, Scan the bar code)
(video name: Rectification in mean and Standard deviation)
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Chapter-09
Indices

The barometer of commerce is:
a) Standard Deviation Co efficient Of variation

c) Index Number None of the above

Comparison Year is called
a) Current year b) Base year

c) Botha&b d) None of these.

I & }
O N\Y
Sampling Error exist in ? P~ ;\rv
a) Euler Number b) Index Number

c) Mean d) P ‘-‘Mediag v
(o=

In which Index, choice of base year is difficult? \._.,.——""“
a) Quantity Index No. /«b] “"Weighted Index No.

Price index No. \ d]\w Simple Qty Index No.

What is effect of Paasche’s Index Nos an mflatu:ln'-|
a) Its Understate inflation / ;-" b) Neutral
Its Overstate inflation . d) No impact
What is effect of Laspevre s Index No. on inflation?
a) Its Understate ]nﬁatlon b) Neutral
c) Aits O\rerstate mﬂatlon d) No impact
.-'I H‘“‘x_
9.7) é Laspevre price Index tends to overstate inflation, this is because
7 3) \Both prlces and quantities of b) Both prices and quantities of
& current year are used for inflation. baseyear are used as
V4 numerator for inflation.
, Consumers reacts to price increases d) All of these

9.8) Lfaspeyre price index also called the
a) current year quantity weighted base year quantity weighted method
method
c) Both d) None of these

Which of the following does not change in the calculation of Laspeyre index every year?
a) Denominator b) Numerator

Both d) None of these
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[STATS, Important Questions] [CH-09]

R

PREMIER By:(HM Hasnan)
9.10) The only new information that has to be collected each year in the calculation of
Laspeyre index Is
a) Price of items b) Quantities of items
c) Both d) None of these
9.11) Laspeyre price index fails to account for the following fact that
a) People will buy less of those items b) People will buy more of those items
which have risen in prices more than which have risen in pﬂfl}'ﬂl more than
other others / [\,
c) It Is based on quantities bought in d) All of these . N 4
current year instead of base year T \ 4
N\ 4
5y !
9.12) Why Laspeyre price index is used more than the Paasche price [nde{u? I: \-*
a) Because quantities of base year has  b) Beﬁause more Information has to
tobe collected to construct /be cullected to construct Laspeyre
Paasche index '“inden
c) Because less information has to d) g BEEaUSE more information has to
be collected to construct Paasche «_—be “collected to construct Paasche
index p, //:} ~— index
9.13) If the Fisher Iindex is 10% more 1han the Laspevre s lndeu and base year index is 109.5, find

Paasche's index
a 120.5 f

c) 1325

/ \ / b:u 1155
32,5

9.14) Ifthe current year's WEIghtEd index is 5% higher than the base year and Fisher’s Ideal Index
Number is 250, find out the Laspeyre’s Price Index Number and Paasche's Price Index Number.

a) 214and 246 \\\ b) 336and 346
c) 244511&255 d) 200and 214

9.15) ¢ Compute the r;eal wages for each of the above years.
. PN ¢

.‘f’\ Year \}. Pay (Rs.) | Price index
‘21(}05 12350 1101
2006 13500 1223
2007 14800 137.6
2008 16500 160.2

a) 11217, 11038, 10766, 10300 b) 11217, 11038, 10756, 10330
€) 11217, 11138, 10756, 10300 d) 11217, 11038, 10756, 10300
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[STATS, Important Questions] [CH-09]
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9.16) The income of the person in 2018 is Rs5.50,000 and cost of living Index Is 109. What is the real

income. ? [Rs.45,871.56]
9.17) Find Laspeyre’s Price index number?
2002 price 2000 price 2000 guantity
123 112 50
244 220 40
301 290 35 [‘ R
a) 109.91 b) 107.71 A \ ,
¢) 105.71 d) 108.81 : \ y
9.18) Compute Laspeyres Price Index for the following data uslngzﬂUZasbase:\i\ y
Ingredients Price in 2002 Price In 2007 _.|{. Quantity in 2002
A 140 20 N =~ 40
B 120 180 L ), 25
C 80 110 \N 60
a) 147.21 b) £148.51% ¢
e
c) 14950 p, : /\g) 145\._50
9.19) Find Index Number ,/\\ U GJ
2002 2003 s’
Price Qty |° “\Price Qty
10 20 15 22
12 22 17 \ 25

Find quantity index using 2002 as base
i) Laspeyre method

i) Paasche method'\ >

a) 110,07,109.02. )

¢) 112,07, 112,02
. "
p \\ L/
9.20). Chemical Master Company (CMC) produces a special industrial chemical that is a blend of four

4 chemical in\gredients. The prices at the beginning and the end of year of each material
nd quantities required to make one unit of finished product are given below:
__gF

b) 106.07, 106.02
d) 108.07, 108.02

7 Jan 20X2 (Base Period) Dec 20XS {Current Period)
Ingredients Price per kg Kg per unit Price per kg Kg per unit
A 2.50 10.00 3.95 11.00
B 8.75 3.00 5.90 2.50
C 0.99 2.00 0.95 3.00
D 4.00 2.00 4.50 5.00
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Using Laspeyre price index as at Dec 20X5, which of the following statement Is correct?

a) Prices have risen by 30.82% between Jan 20X2 and Dec 20X5
b) Prices have risen by 23.56% between Jan 20X2 and Dec 20X5
c) Prices have risen by 22.67% between Jan 20X2 and Dec 20X5
d) Prices have risen by 29.31% between Jan 20X2 and Dec 20X5

9.21) Chemical Master Company (CMC) produces a special industrial chemical that Is a blend of four
chemical ingredients. The prices at the beginning and the end of year of each mate;ial and
guantities required to make one unit of finished product are given below: \

o

Jan 20X2 (Base Period) Dec 20%5 {Current Period)
Ingredients Price per kg Kg per unit Priceper kg’ |/~ Kg per unit

A 3.00 10.00 / 3495. — 11.00

B 9.00 3.00 9.90y) 2.50

C 1.00 2.00 A ND95 3.00

D 2.00 200 [ |- 4.50 5.00
\____,.f

Using Paasches price index as at Dec 20X5, which of the foﬂuwlng statement Is

correct? A O \q

i

a) Prices have risen by 21.34% betw;En Jan 20}(2 -and Dec 20X5
b) Prices have risen by 26. ?396 between Jan 20X2 and Dec 20X5
c) Prices have risen by 27. 14% betweéen Jan ZDKZ and Dec 20X5
d) Prices have risen by 36. 579?,\betwee[| Jan 20X2 and Dec 20X5
r 4
9.22) Chemical Master Ce’@panv {CMC) produces a special industrial chemical that is a blend of four
chemical ingredients. 'The prices at the beginning and the end of year of each material and
quantities requTred to make one unit of finished product are given below;
/; \ \1
V4 " _Jan 20X2 (Base Period) Dec 20X5 (Current Period)
| Ingredients —Price per kg Kg per unit Price per kg Kg per unit
T NOA i 3.00 10.00 3.95 11.00
B : 9.00 3.00 9.90 2.50
: CN 1.00 2.00 0.95 3.00
D/ 2.00 2.00 4.50 5.00

*
Using Paasches quantity as at Dec 20X5, which of the following statement Is correct? (03)

a) Prices have risen by 8.73% between Jan 20X2 and Dec 20X5

b) Prices have risen by 16.79% between Jan 20X2 and De¢ 20X5
c) Prices have risen by 27.14% between Jan 20X2 and Dec 20X5
d) Prices have risen by 36.57% between Jan 20X2 and Dec 20X5
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Which of the following statement is correct about Laspeyre price index?
a) It has a focus which is biased to the cheaper items bought by consumers as a result of
inflation.
b) The denominator in the Laspeyre price index has to be recalculated every year to take
account of the most recent quantities consumed.
c) It is based on guantities bought in the base year.
d) It tends to understate inflation

Which of the following statement is correct about Laspeyre price index? ol
a) It has a focus which is biased to the cheaper items bought by consumersas a resuIt of
inflation. ’ Y
b) The denominatarin the Laspeyre price index does not change from ‘.rear to year
c) It is based on most recent quantities purchased. ® 4 \\

d) It tends to understate inflation

The price of commodity in different years is given below: \
Years 2017 2018 2019 -, \ 2020

Price 850 950 1100 "7 /1300

Iy

L

Chain indices in the abave case will be: /*f\ -
a) 100, 100, 150, 200 y . : b, b}'\:llgp; 89.47, 86.36, 84.62

c) 100, 111,76, 129.41, 152. 94 g \ . ﬂ} 100, 111.76, 129.41, 152.94

N
The price of commodity in dlfferent vears is gwen below: Compute the chain indices for the
following years.
Years 2010 2q11 _» 2012 2013

Price 49 . 53 ) 58 62

Determine the cham mdlr.es in the above case;
a) 100, 115.50, 118 40 %12 80 b} -100, 92.50, 91.40, 93.55

c) lﬂﬂ' 108.16, 11.3 36, 126.53 d) 100, 105.50, 116.50, 114.50
\\4

"

r. Y
& _—

9.27) Following Consumerd.'Price index {CPl} has been computed taking 2008 as base year:
P P ‘q\'

F

/\ 7 Year) CPI
2008 [04.96
2009 100

#2000 116.19
2001 115.11
2002 132.01

The Yearly inflation/{Deflation) for the above data would be

a) (4.98%), 5.83%, 0.93%, 12.80% b) 4.98%, 16.19%, 8.41%, 14.69%
c) (4.73%), 6.19%, 8.40%, 14.68% d) (4.73%), 16.19%, (0.93%), 14.68%

20 |CH-09 BY: HM Hasnan [CFM (UK), CFMA, MA (Eco)]

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

[STATS, Important Questions] [CH-09]
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9.28) The price of a juicer machine during past five years Is as follows:

Year Price (Rs.)
2007 3700
2008 4500
2000 4800
2000 5000
2001 5300
By taking 2007 as base year, find the simple index numbers relative to price for the gfcg‘r; period.
a) 100,121.62,129.73, 135,14, 143.24 b) 121.62, 100, 93.75, 90 éd 21
c) 100, 82.22, 77.08, 74, 69.81 d) 125, 100, 93.75, 90 84 91 X
O \
9.29) Which of the following statement is/are correct: P~ L,

(i) InLaspeyre price index, the denominator does not change{from year to year,

(ii) In Paasches price Index, the denominator has to he recalcu!ated every year to take
account of the most recent quantities consumed I'g P \

a) Both statements are correct b]\% Both statements are not correct

c) Onlystatement (i) is correct V4 /."'"'xd] gnlvstatement (i) is correct

| —

A

y
ANSWER KEV; ‘*}f

A1) N[ 92 B 9.3) B 9.4) c

95| A / 9.6) C 9.7) C 9.8) B

9.9) A7 9.10) A 9.11) A 9.12) D

913) ° C 9.14) C 9.15) D 9.16) Rs.45,871.56

9.17) B 9.18) B 9.19) C 9.20) A

9.21) D 9.22) B 923) C 9.24) B

9.25) C 9.26) C 9.27) D 9.28) A

9.29) A 9.30) 9.31) 9.32)
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Chapter-10

Correlation & Regression:

10.1)
a) Perfect correlation (if all the points lie on

the line of regression)

c) +ve correlation (if scatter diagram shows

increasing trend on right side)

10.2)
coefficient of correlation must be:
a) EitherOor1.0o0r-1.0

c) Eitherl1l.0or-1.0

10.3) Properties of scatter diagram
a) Graphical representation of relation b/w

independent and dependent variables
s

Independent variable is usually x, .

Dependent variable is usually y *
V.

c)

If all the points in a scatter diagram lie on the least square regression Ime, the

Which of the following correct about scatter diagram?

b) Perfect-ve correlation {if all the points lie
on the line of regression sloping downward

d) Allof these /
A D)

.1

‘.j
J

&

F

b) EitherOeorl.0

d) Zero ,/\

b) Qs Dnly used for 2 variables

L/ d)\}nllofthese

A i . o
Which of the following statements is cnrre%s regards scatter diagrams?

It is least important to es.\tainSh which”
variable is independent before plotting
the scatter diagram

a)

)%
It can show relatmnship between more

than two variables \ ’
- B -.._l'\'. 3

7

10.5) In::reasmg trend on scattered diagram shows

n atwe 2
s Vv

A

c) _random _
F 4 }

a) 0
'I
c) Maximum
10.7) Characteristics of regression line?
a) Predict/estimate dependent variable when
independent variable is given

c) Botha&b

b) It leads to correct conclusions even if there
are only few data points.

d) It may indicate a relationship where there is
none

trend
b) Positive

d} Naone of these

10.5]\fell points lie on (scatter line) least square Regression line, then error will be

b) 1

d) Minimum

b) Define relationship between dependent and
independent variable

d) None of these
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10.8) The unknown value of dependent variable can be estimated on the basis of given
value of independent variable by using:
a) Scatter Diagram b) Least square regression line

c) Bothaandb d) Noneof these

10.9) Which of the following statement is correct:
a) The value of coefficient of determination Is The value of coefficient of determination
inthe range -1to +1 shows how much uarlation In the value of y
Is explained by variation in the value of x
If the coefficient of correlation is, r=0, its Bothaandb : Y
mean there Is a perfect correlation
between x and y.

10.10) There Is a perfect positive correlation when: f\

a) All the data points lie on a scatter b) all the data pnints Ile in an exact

diagram in a discrete form stralght line and a linear relationship exists
Between he two variables

c) All the data points lie in an exact straight d) (_t}ne of the above
line but relationship, may or may not be \} \ -
linear {l/. ® \-ua

10.11) which of the following statement is correct? (—’

a) Ifthereis aweek relationshlp between}wo “ b) Linear regression analysis is used to
variables, the points on the scatler dlagram' calculate ‘a’ and ‘b’ In the linear cost
would be concentrated around a CUWE equation,

¢) The standard regression equation is d) Bothaandb
y=a-bx \ /

10.12) Range of cnefflclent of correlation Is?
a) -eeto 1 \ ) b) -1to+l

N\
c) pto +1 N d) -1to+e=

10.13) »(hengll the data pnfnts lie in an exact straight line and a linear relationship exists between the
two varlables then there is a:
a)/Negatwe correlation b) positive correlation

R perfect negatlve correlation d) perfect positive correlation

NS
10.14) Fm;:i the relationship between two variables
b

Independent Varlable
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a) perfect pasitive correlation b) Moderate positive correlation

c) Weak positive correlation d) No correlation

10.15) Find the relationship between two variables
Y

o

Dependent Variable

,: 6N
&

Independent Variable f
a) perfect positive correlation b) Moderate posaﬂvemrrelatmn

s

~
¢) Weak positive correlation d) Nocorrel:‘a\lt_lon

Y

10.16) If two variables have perfect positive correlation, then?f
a) byx=hbxy h) bw: > bxy

c) byx <bxy u\b\ﬂt 1/bxy

10.17) 2y = 3x +24; find x intercept?" \rdl

a) 12 " b) -8
0 8 7 d) -12
L . Jo
10.18) Which of the follou‘:mglsmcorrect about Co efficient of determination?
a) Rangefromotoﬂ Py b) square of “r”

#

c) Range : from 0 to 1 d) explain the variation in dependent variable
4 = due to independent

‘h >
10.19) n=10,3 x=120,3 y =150, 3 x? = 1200, § xy = 900. Find regression coefficient y on x

/ a) 301 \ 4 b) 3.75
\'c]' 275 ¢ d) 175
10.20) If SX = 2000, S¥ =1020, 5X 2 =10,000, S¥2 =750, XY =15,000 and n=100 The line
of regression of Y on X is:
a) 5.6+0.17x b) 6.6+0.18x

¢) 6.6+0.15x d) 9.6+ 0.18x
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10.21) f $X =173, 3¥ =613, XY =11,965, 5x2=4,119 and n=10 then equation for
regression line of y on x (line of best fit) would be:
a) Y=40.402+20.898x b) Y=-61.30+20.898x

€) Y=40.402+1.208x d) Could not be calculated as value of 3Y2?is
not given

10.22) If the equation for Regression line y on x (line of best fit) is y = 32 + 0.5x, then for every
unit increase in x, y would? P
a) Increased by 32 units b) Increased by 16 units » [

¢) Increased by 48 units d) Increased by 0.5 units’ \ ,

10.23) A regression analysis between sales {in Rs.1000) and advertising (in Rs!lﬂﬂbf’resdlted in
the following least squares regression line Y = 50,000 - 2x, this implies that!
a) As advertising increases by Rs. 1000, sales b) As advertising Increases by Rs. 1000, sales

will Increase by Rs. 2000 will decrease I:n,f Rs. 2000

¢) As advertising increases by Rs. 1000, sales d) As advert sing increases by Rs. 1000, sales
will decrease by Rs. 48,000 wIII Increase by Rs. 48,000

\
10.24) Regression line isy =32 + 0.5x; one unlt increase ln X wnuld aﬁect what and how much?
a) 1 unitincrease in x causes 0.5unit increase in ',r U 1'unit increase In y causes 0.5 unit Increase In x

r 4
c) 1 unitincrease in x causes 1 unit Incre_ase in ¥ »~d) 1unitincrease inx causes 1 unitincreaseiny

10.25) Range of co efficient determin\a\tion is?

a) -ooto+l ) b) Oto+1

c) -lto+ee d) None of these

10.26) If the cueﬁlcient of determlination is a positive value, then the coefficient of correlation:
a) Must be positr\rem\; b) Must be negative

c) qut be zero )/. d) Can be positive as well as negative
Pa\ :
VWY AN, g
10.27) If r:=0.56,byx=2, find bxy?
Na).0.18 ¢
c\f\g.zs"

10.28) If .'*2 = 0.25then what Is Its meaning?
a) It means correlation Is 25% It means correlation Is 75%

c) It means correlation is 50% Nane of these
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10.29) For rz = 0.64 the explained variation in dependent variable due to independent variable Is:

a) 80% of variations in the value of y are b) 64% of variations in the value of y are
explained by variations in the value of x explained by variations in the value of x

c) 36% of variations in the value of y are d) 20% of variations in the value of y are
explained by variations in the value of x explained by variations in the value of x

10.30) If the value of r2 =0.25, it means that -

a) 75% of variations in the value of y is b) 50% of variations in the vaTue ufy]
explained by variations in the value of x explained by variations/|n the uaTue of X
€) 25% of variations in the value of y is d) 0.25% of vanatlgns\ln the'valde of y is
explained by variations in the value of x explained by va@tiunsdn the value of x
[ &
10.31) If the value of coefficient of determination i.e r2=0.64, it means 't"h;f:- ’
a) 80% of variations in the value of y is b) 64% of variations in the value of y is
explained by variations in the value of x explamed t?J\r variations in the value of x
c] 64% of variations in the value of x is d) 50% of- varEat:ons in the value of y is
explained by variations in the value c:rf ¥ / ,\ e::plained by variations in the value of x
A ® "\,?,'
10.32) If r = 0.8 (y on x) means that -*’ /
a) 36% variation in y due to x V4 ] 36% variation in xdue to y
¢) 64% variation in x due to.y ,f \ b4%variation in y due to x
10.33) There is 25% devfaﬁon{variatim}\irw due fo x. coefficient of correlation is?
a) +05 { / b) 0.5
c) Botha&hb d) MNone of these
./L " “1;
f’r‘*'\.z
10.34) The value of 15 fur a par’ucular situation is 0.36. What is the coefficient of correlation?
a) 406 N b) -0.6
\ Y - -
PRI NS d) 0.6
A
10 35} Ifthe Co- efffcient of determination is equal to 1, then correlation Co-efficient is
\ Must be equal to one b) Either—1or+1
¢} Anyvalue between—1and+1 d) Mustbe-1

10.36) The correlation between height and weight for adults is +0.90. It depicts that height on
account of variation in weight is:

a) 90% b) 45%
¢) 10% d) 81%
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10.29) Forr
a) 80% of variations in the value of y are
explained by variations in the value of x

c) 36% of variations in the value of y are

explained by variations in the value of x

10.30) If the value of r2 =0.25, it means that
a) 75% of variations in the value of y is
explained by variations in the value of x

c) 25% of variations in the value of y is
explained by variations in the value of x

= 0.64 the explained variation in dependent variable due to independent variable is:

[STATS, Important Questions] [CH-10]
By:(HM Hasnan)

b) 64% of variations in the value of y are
explained by variations in the value of x

d) 20% of variations in the value of y are
explained by variations in the value of x

j—
r.

b) 50% of variations in the value' ufy is,
explained by variationsin the value of x

d) 0.25% of varlaticms in the value of y is
explained by uarlatlun.s In the value of x

S
|

10.31) If the value of coefficient of determination i.e r2=D.Ed, it means fhﬁ: =

a) 80% of variations in the value of y Is
explained by variations in the value of x

c) 64% of variations in the value of x Is

explained by variations in the value gf ¥

10.32) If r = 0.8 (y on x) means that s \
a) 36% variation in y due to x _/

c) 64% variation in x due to. v

10.33) There is 25% devTatTon(vanatlonj in due fo x. coeffIcTent of correlation is?

a) +05

c) Botha&hb
a >

P ™
;o y

b) 64% of variations in the value of y is

;axplained by variations in the value of x

d) fﬁﬁ.af-vaﬁations in the value of y is

~. explainéd by variations in the value of x
o\ G

6 N
L] ~36% variationin xdue toy

d] B64%variation in ydue to x

b) -

d] None of these

10.34) The value of?{‘for-a particular situation is 0.36. What is the coefficient of correlation?

-

2 A08 =
~
) 006 )

A ':' \ e

b) -0.6
d) +0.6

10.35). Ifthe Co-efficient of determination Is equal to 1, then correlation Co-efficient is

aﬁ Must be equal to one

¢) Any value between—1and +1

b) Either—lor+1
d) Mustbe-1

10.36) The correlation between height and weight for adults is +0.90. It depicts that height on

account of variation in weight is:

a) 90% b) 45%
¢) 10% d) 81%
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10.37) 1fr=0.9,lineyonx
a) 90% variation iny w.r.t.x b) 81% varlation inyw.r.t.x

¢) 19% variation in y w.r.t.x d) 10% variation in x w.r.t.x

10.38) 3x=1,239, Ty =79, Txy= 17,233, 5x% = 568,925, Ty = 293 n = 100 find line 'y an ¥’ and
‘x on y’ and their point of intersection?

a) Meanofx=12.93, meanofy=0.79 b) Meanof x=14.93, mean uf\f: 2 ?9
¢) Meanofx=10.93, meanofy=1.79 d) Mean of x=13.93, mean nhr 0. 5

"
10.39) Find the coefficient of correlation between x and y if L{;\ \ g
Regression line of xony is: 5x—4y+2=0 | O
Regression line of yon x is: x—=Sy+3=0

£

0.2 b) 03,
P
0.4 d) 0.5

j

In regression, the sum of the reslduals is alwaﬁsf\}\
0 AR h) >0

: N
<0 A o\ Wl Al of these

10.41) What will be the coefficient of cnrrelation for a sample of 20 pairs of observations,
given that. O
£=2, ¥=8, 317 180, Syi= 1424 and 3XY=404

a) 090 b) 0.70

c) 0.80 ./~ )4 d) None of the above
d \\\\>

10.42) -—*Currelatlun b/w.Car (weight & reliability) Is r=-0.30

/ Correlatlon b/w Car (weight & maintenance cost)is r=+0.7
F F % 4’

/\’[i] Heavler cars tend to be less reliable

“(ii) Heavier cars tend to cost more to maintain
{iflfj “Car weight Is related more strongly to reliabllity than to maintenance cost

I only b) Il only
il and Il d) landll

Correlation b/w Car weight & reliability is r=0.30
Correlation b/w Car weight & maintenance costis r= 0.20
Which of the following statements are true?
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(i} Heavier cars tend to be less reliable
(i) Heavier cars tend to cost more to maintain
(iii) Car weight is related more strongly to reliability than to maintenance cost

a) lonly b} 1l only
c) llandlll d) Llland Il

10.44) If covariance (x,y) = 62, Standard deviation (x) = 16 and standard deviation (y) = 727" wlll be

equal to: 2 b,
a) 0.6435 b) 0.5536 f’-\ /
¢) 06235 d) 0.5235 /’>
Ny
10.45) Regression lines passes through the...... L_,
a) X, 3Y b) XY f
¢ S(Y-Y) d) Nope ofthese_,

|

10.46) If regression coefficient of y on x is 1.44 and the caefﬁ;i'eﬁ of correlation between x
and y is 0.6, the regression coefficient'of x ony willbe =~
a) 0.84 / . Ohaw
c) 025 ; 'Idl, 4

-

o\ )
10.47)  If rranges from +0.9 to +1.00 then which of the following is correct
a) thereis strong cnrrfelatinn \ b) there is high carrelation

c) there is perfect correlation ) d) All of these
':'.:\\\
10.48)  I{X-X)(Y-Y) = 954 and standard Deviation of x is 21.5 and standard Deviation of y is 10.61, r =
0.524thenfindn=2 )/
a) 17 " b) 8
)19 N d) 20
p, N V
10.491 A I:-tolng|st assumes that there is a linear relationship between amount 965) of fertilizer supplied
\to tomato plants and the subsequent yield of tomatoes obtained.
Eight tomato plants of the same variety were selected at random and treated weekly with a
snlutlnn in which x grams of fertilizer was dissolved in a fixed guantity of water. The yield, y
kllngrams of tomatoes was recorded.

PLANT A B C D E F G H
X 1 1.5 2 25 3 5 4q 4.5
Y 39 4.4 5.8 6.6 7 7.1 73 7.7

Estimate the yield of a plant treated weekly with 3.2 grams of fertilizer
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a) 6.7 b) 7.6
c) 3.9 d) 8.2

10.50) The members of the selection committee rank eight players for selection as follows: Rank
Correlation of the following Data?

Player A D E F G H

Rank (member 1) 1 4 5 6 7 8

Rank (member 2 2 5 7 3 4 [ \B

The coefficient of rank correlation Is:
a) 057 b) 0.67 \
c) 0.47 d) 0.37 (C/
10.51) The average runs scored by seven leading test cricketers dunng last calendar year are given

below: A \

Average runs scored | 46 73 68 79 {ig/ 81

in 1st innings (x) S E /
Average runs scored 31 55 |465 | /B2 85| 36 53
/ U NS
in 2nd innings (y) . 24

The spearman’s rank correlation ccelhcient for the runs 5:ared in first and second innings Is:
/

a) 0.7143 ) b) 0.7143

c¢) 0.2857 . d) 0.8810
,"’
1052) B.=-041 B, % 071, r=?
a) 0.54 : b) -0.54

c) 0.35/_':___" - N4 d) Not possible
.’ 1
10.53) ,Flnd the coefficient of correlation between x and y If:
Hegrgs;ion !Ine '6fx on y is: Sx-4y+2=0 and
A Regression lineofv,ronxis x-5y+3=0
A~a) Ha ) b) -0.4
/

¢ '10.-3, d) 40.16

-.-"

r

10.54) C:}nslderfo'trowingdata

Towns Bee
Police strength 140
No. of crimes per Month | 95
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The equation for regression line of y on x (line of best fit) for the
above data is: ¥=129.25-0.2x
Using the above regression equation, which of the following statement
is correct?
a) Police of Bee town is more efficient than police of Cee town
b) Police of Dee town is mare efficient than police of Gee town
¢) Police of Kay town is more efficient than police of Pee town
d) Both (a) and (b)

Video name: Regression Analysis (Police, Crime Question)

10.55) The citizen police Liasion Committee of Utopia City has gathered fu1|nw:ng information from
various town of the city. / ’

Towns Bee Cee Dee Gee “|Jay ! |Kay
Police strength 140 130 220 150 140 150
No. of crimes per | 95 110 |90 55/ \h 90 120
Month N [
The equation for regression line of y'on x (Ilne afbest ﬂt}l for the above
datais: Y=112.865 - 0.083x
Using the above regression equatmn whn:h of the follawmg statement is correct?
a) Police of Cee town is more efflugnt than police of Bee town
b) Police of Dee town is mare efficient than police of Gee town
c) Police of Kay taryvg is more efficient than police of Pee town
d) Police of Tee town Is more efficient than police of jay town
X , -
10.56) A medical res;l_!arl:h"tnmﬁanv has developed the following equation for regression line of y on
x (Iine of best fit) fara particular age group y= 6.93 +0.38x where x represent height in
,centlmeters and y represents weight in kilogram. Using above equation, we can say that:
p ‘\ V
! a) s For each centlmeter increase in height, weight will decrease by 0.38 kilogram
b) For each centimeter increase in height, weight will increase by 0.38 kilogram
) For each centimeter increase in height, weight will increase by 6.55 kilogram
di\ For each centimeter increase in height, weight will decrease by 6.55 kilogram

&

10.57) Aregression analysis between sales {in Rs. 1,000) and advertising 972) (in Rs. 1,000) resulted
in the following least squares line Y = 80 + 5x, this implies that:

a) As advertising increases by Rs. 1,000, sales increases by Rs. 5,000
b) As advertising increases by Rs. 1,000, sales increases by Rs. 80,000
€)  Advertising increases by Rs. 5, sale increases by Rs. 80

a)  None of these
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10.58) |If a =-12,57 and b = 0.35 then equation for regression line of y on x {line of best fit) would

be:
a) ¥Y=-035+1257x b) ¥=0.35-12.57x

€) Y=1257-0.35x d) Y=-12.57 +0.35x

10.59) If 25% of variations in the value of y are explained by variations in the value of x then
coefficient of correlation is:

a) 0.25 b) 0.75
¢) 0.500r-0.50 d) Either0.250r-0.25

10.60) The following data pertains to a group of football players:
Heights [inches) 72 66 71 68 75

Weight (kg) 95 80 83 75 92 /

=
Equation of a line of best fit for the above data will Iqef;_". -
a) Y=1.89-48.06x b) \¥=1:89 + 48.06x
c) Y=-48.06+1.89x Y ¢ & )y =48.06 - 1.89x
A v f" >
10.61) One restaurant collected the following data advertising and sales for five months:
AdvertisingExp | 10 | _40 20 \ a5 50
(Rs. ‘000°) i\ Vs
Sales (Rs. ‘000’) 125 5357. 180 415 560

I

Equationof a Iin'é of best fit for the‘above data will be:
a) Y=-17.06+ 12.2§x N\ b) Y=17.06-12.26x

¢ Y=-1706x+1226 7 d) Y=17.06x-12.26
o Y r 4

T

10.62) Which of the following statement is correct?

'El}\lf there is a strong relationship between two variables, the point on the scatter diagram
/ would be concentrated around a curve.

b)# Linear regression analysis is used to calculate values of ‘a’ and ‘b’ in the linear cost
\ equation

¢) The standard regression equation is: y = a = bx
d]};ﬂcth (a) and (b)

10.63) Value of r = 0, indicates:
a) Perfect positive correlation b} Perfect negative correlation

c) No correlation d} None of the above
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10.64) What will be the cueﬂ"cient of correlation for a sample of 20 pairs of observations,

giventhat =2, 7=8, $X2= 180, 5¥Z = 14240nd SXY = 404
a) 0.90 b) 0.70

c) 0.80 d) None of the above

10.65) Which of the following statements as regards to the value of the correlation coefficient isfare
correct?

(i) Itis always greater than 0 /,- X N
(ii) Itis always lies in the range -1 to +1 /:\ s )
a)  Bothstatements are correct b)  Both statements are not correct

7 )
€)  Only statement (i) is correct d) Only statement (i) fs corfect

&
10.66)  Which of the following statements is/are correct? /
(i) There is strong relationship between two variables, the puints an the scatter
diagram wouldbe concentrated around a tuwe/ )
(ii) Linear regression analysis can be used to estrmate ﬂxed cost and variable
cost per unit from histaricaltotal cost and pfeductTnn data.
a)  Bothstatements are correct t/ f l;)}_., Both statements are not correct
c)  Only statement (i) is correct \ (d}

r

Only statement (ii) is correct

& .-"'
10.67)  Which of the following statements about scatter diagram is/are correct?
(i) Itisleast important to establish whnch variable is independent
(ii) It might |nd|cate a relationship where there is none.

a) Both statements are correct b)  Bothstatements are not correct
c) Only statement (|) Is\::nrrect d)  Only statement {ii) is correct
10.68) Whtch of the follnwlng statements about scatter diagram is/are correct?
Q) \It leads to cerrect conclusion even if there are only few data points,
(ii) lt might mdicate a relationship where there is none.
\a} /" Both statements are correct b}  Both statements are not correct
c) Qn!y statement (i) Is correct d)  Only statement (ii) is correct
10.69) Which of the following statements about scatter diagram is/are correct?
(i) It might indicate a relationship where there is none.
(i) Shows visual relation between variables.
a) Both statements are correct b) Both statements are not carrect
c)  Only statement (i} is correct d} Only statement (ii) is correct
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Which of the following statements about scatter diagram is/are correct?

(1)  Itisleast important to establish which variable is independent

(ii) It leads to correct conclusion even If there are onl
a) Both statements are correct b)

10.70)

y few data points.
Both statements are not correct

c)  Only statement {i) is correct d)  Only statement (ii) Is correct

10.71) Which of the following statements about scatter diagram is/are correct?
(1) Itleads to more accurate results if the collected data is atypical

(ii) we can draw it for two or more variables ; . ; 4
a) Both statements are correct b) Both statements are r-;t\:t correct
TN, /
c) Only statement (I) is correct d) Only statemep} (1i) ls\mrre)act
. , S~
10.72) Which of the following statements about scatter diagram is/are corcect?
(i) Itis important to establish which variable is independent before plotting
(ii) It might indicate a relationship where there is nore
a) Both statements are correct b];_nth statements are not correct
c) Only statement (i) is correct 7 /\d} Dﬁly'statement (i) Is correct
F. (:/ I,I' \ ]
AN Y
10.73) Which of the following statements abufi,it\'scatterdlagram is/are correct?
(i)  Itleads to more acceraj.e results’if the collécted data is atypical
(i) It might indicate a rélationship where there is none
a) Both statements are correct . b) Both statements are not correct
'}
c) Only statement (i) is correct d) Only statement (ii}) is correct

10.74) Which of the followi"ng statements as regards to the value of the correlation coefficient is/are
- ‘] )

correct? . o

(i) The coefficient of determination is the square of the correlathl:an coefficient

(ii)" The value of the coefficient of determination must always be in the range O to +1.

a) “Both statements are correct b) Both statements are not correct

( d) Only statement (i) is correct

A

b/
10 TNlch of the following statement is/are correct where Regression is used?
{Iﬁt Is very important In accounting and other business operations
F

(i) It is widely used in economics & business
a) Both statementsare correct

F o J )
c) /Onlystatement (i) Is correct

b) Both statements are not correct

) Only statement (i) Is correct d) Only statement (ii) Is correct
c
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10.76)  Which of the following statement is/are correct where Regression is used?
(i) It tells fixed cost but not variable cost per unit.

(1) It shows the extent of relationship between two variables
a) Both statements are correct b} Both statements are not correct

c) Only statement {i} is correct d} Only statement (ii) is correct

Which of the following statement is/are correct about correlation coefficient? :
(i) It is always from O to +1 ',:' N
(1) It Is always from 0 to -1 y’
a) Bothstatements are correct b}  Both statements are natcorrect

c)]  Onlystatement (i) is correct d) Only statemi‘e_'r}t\{ll} i5 cor\rect

S
.
Which of the following statements about scatter diagram Is,r'ara correct?
(i) It leads to more accurate results if the collected data is a tvplcal

(i) It shows the relationship between two variables. -~ g
a) Bothstatements are correct b}l”./ Both statements are not correct

c) Only statement (1) is correct / d) .Only statement (i) Is correct
N o
O [\¥

/’/
N o

A
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Chapter-11

ke B

Find 0!
a) 0 b)

c) 1 d) 10

If a coin is flipped three times, the possible sample will be:
a) HHH, HTT, HTH, TTT, HTT, THH, HHT, THT
b) HTT, THT, HTH, HHH, TTH, TTT
c) HHH, THT, HTH, HTT, THH, THT, TTH, TTT
d) HHH, TTT, THT, HTH, HHT, TTH, HTH

A coin is tossed 3 times, all possible outcomes are
a) [HHH, HHT, HTH, HTT, HHH, HHT] b) [HHH, HHT, HTH, HTT, THH, THT, TTH, TTT]
c) [HHH, HHT, HTH, HTT, THT, THT, TTH, d) [HHH, HHT, HTH, HTT, THT, THT]

TTT)

There are 6 digits 1,3,4,5,7,9. A three-digit number is to be made from these numbers which
should be divisible by 2. (No repetition of numbers). Find all possible ways...
a) 10 b} 20

o) 30 d) 40

How many 3-digit numbers can be farmed from the digits 2, 3, 5, 6, 7 and 9, which are divisible
by 5 and none of the digits is repeated?
a) 120 b) 30

c) 20 d) 18

How many 3-digit numbers can be formed from the digits 1, 3, 4, 5, 7 and 9, which are divisible
by 2 and none of the digits is repeated?
a) 6 b) 20

q) 120 d)

In how many ways the word “CORRECT” be arranged.
a) 210 b)

c) 2520 d)

In how many words LEADING can be arranged?
a) 2520 h)

c) 5040 d)
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11.9) In how many different ways can the letters of the word ‘LEADING’ be arranged In such a way that
the vowels always come together?..,
a) 520 b) 620

c) 720 d) 800

11,10) In how many ways word “BINOMIAL" can be arranged, when vowels come together:
a) 120 b) 40320

c) 2880 d) 1440

11.11) In how many ways word “ANCIENT" can be arranged, when vowels come together:
a) 2520 k) 360

c) 120 d) 5040

11.12) In how many different ways can the letters of the word ‘DETAIL’ be arranged in such a way that
the vowels occupy only the ODD position.
a) 42D b) 48

c) 36 d) 60

11.13) The events A and B are two mutually exclusive events and P{A) = 0.4 and P(B) 0.3, then Find
P (A or B).
a) 0.58 b) 0.7

c) 0.6 d) 42

11.14) If two dice are rolled, what is the probability that either the sum of the two will be seven or at
least one of the dice will show the number 5.
a) 3/36 b) 30/36

c) 15/36 d  a/s

11.15) If a customer wants to choose one of these packages, then find the number of ways available to
him
Call metering 1 sec 20 sec 30 sec 60 sec

Fixed monthly 0 with no free Rs. 300 with 300 | Rs. 1000 with 1500 free
charges min free min

GPRS charges 0 with no GPRS | Rs, 300 with 300 | Rs. 500 with 500 MB
MB

a) 10 b) 12
c) 36 d)
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11.16) Following data is given
Goal 0 1 2 3 4 5 More than 5

P(X=x) |0.05 0.2 0.15 0.15 03 0.05 01

Find the probability that there would be total 5 goals in two matches
a) 0.835 h) 0.825

) 0.175 d) 0.165

(Video name: #Probability Exam Important Questions
(#Statistics) Channel:(HM Hasnan)
(Scan this Bar Code for Complete Solution)

11.17) A box contains 57 calculators out of which 36 are defective, if 4 calculators are selected
from the box then find the probability that all are defective
a) 0.8509 b) 0.01515

c) 0.1491 d) None of these

11.18] A bookcase contains 6 math books and 12 accounting books. If a student randomly
selects two books, then find the probability that both of them are math books or accounting
books

a) 0.0423 b) 0.5556

c) 0.5000 d) 0.5254
11.19] While checking out from a departmental store a consumer pass through one out of 12 cash
counters C1 to C12 (All having same probability) then his bill is verified by one of 3 officers
(with same probabilities) V,, V, or V;, then he embarks one of two elevators E1 or E2 and
is twice likely to embark on E2 as E1.
Find the probability a consumer will pass through Cg or C12 verified by V1 and embark on E2,
as it is twice as large as E1.
a) 17/12 b) 1/27

¢) 1/36 d) 1/54

(Video name: #Probability Exam Important Questions
(#Statistics) Channel:(HM Hasnan)
{Scan this Bar Code for Complete Solution)
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11,.20) While checking out from a departmental store a consumer pass through one out of 12 cash
counters C1 to C12 (All having same probability) then his bill is verified by one of 3 officers
(with same probabilities) V,, V, or V;, then he embarks one of two elevators E1 or E2 and is
twice likely to embark on E2 as Eq.

What is the probability that a consumer will pass through C1, verified by either V1 or V3 and
embark on E2.

a) 17/12 b) 1/27
¢ 1/36 d) 1/54
11.21) The table below describes the smoking habits of a group of asthma sufferers:
Gender Non smokers Light smokers Heavy Smokers Total
Men 353 42 49 444
Women 352 32 40 424
Total 705 74 89 868

If a person is randomly selected from the group, the probability that selected person
is either Women or Light Smoker Male, is:

a) 0.5737 b) 0.5369

c) 0.5115 d) 0.0373

11.22) There are 65 currency notes of Rs 1000 and 35 currency notes of Rs 500 In a Safe. If 4 notes are
selected randomly find the probability that total amount obtained is at least Rs 4000
a) 0.1727 b) 0.5246

c) 0.1527 d) 0.1313

11.23) An [NAC) Institute select 30 doctors and give them a medicine to test and give feedback,
each doctor selects 50 patients and apply that medicine to them. You are required to determine

the sample size for NAC?
a) 80 b) 150
¢) 1500 d) 20

11.24) 50% people use cellular mobile and 40% people use landline and 20% people use both. Find the
probability that a person selected at random use neither.,
a) 20% b) 30%

c) 40% d) 50%

11.25) In a bag there are 2 green balls, 3 blue and 2 red balls. if you picked two balls randomly. Find the
probability that none Is blue?

a) 0.2857 b) 0.3578
c) 0.1245 d) 0.5225
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11.26) A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What Is the
probability that none of the balls drawn is blue?
a) 0.4762 b) 0.1429

€) 0.1905 d) 0.4000

A bag contains 2 red, 3 green and 3 blue balls. Three balls are drawn at random. Find the number
of ways that atleast 2 of the balls drawn are blue?
a) 13 b) 16

c) 15 d)

Two dices are rolled what is the probability that at least one 6 appears
a) 16.67% b} 33.33%

c} 31% d) 30.55%

Among 18 members of a cricket club, there are 2 wicket keepers and 5 bowlers. In how many
ways can a team of 11 members be chosen so as to include only one wicket keeper and at
least three bowlers?...

a) 12100 b) 12144

c} 12200 d) 14400

Two dices are rolled find the probability that atleast 1 “six” appear
a) 1/6 b} 2/6

c) 15/36 d) 11/36

There are 12 CNG kits out of which 4 are defective, if 4 kits are selected at random then find the
probability that at least 3 are defective
a) 1/3 b} 1/15

c) % d) a/3

A consignment of 12 refurbished CNG KITs contains 4 defective KITs. If 5 KITs are selected at random then
find the prabability that at least 3 of them will be defective?
a) 0.0101 b) 0.1414

c) 0.1515 d) 0.2929

11.33) In a bakery there are 3 cakes of pineapple, 4 cakes of chocolate and 2 cakes of vanillaand 11is without
cream. 2 cakes are purchased by a customer. Find the probability that both are chocolate cakes.

a) 2/15 b) 3/15
c) a/s d) 2[7
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11.34) Out of 12 eggs in a refrigerator, 2 are rotten. From these 12 eggs 4 are selected at random to
make a cake. what are the probabilities that: at least one Is rotten
a) 240/495 b) 285/495

c) 220/495 d) 200/495

11.35) There is total 57 eggs in a basket out of which 36 are defective. If 4 eggs are selected from the
box find the probability that only 1 is defective
a) 1/11 b) 2/15

c) 4/33 d) None of these

11.36) From Manufacturing of 25 Bulbs .3 are defective if the random sample 5 Bulbs is selected from it.
What Is the probability that selected sample contain exactly 2 Defective Bulbs
a) 0.087 b) 0.258

¢) 0.022 d) 0.098

11.37) AS-digitPin Code begin with any number except 0 and 1. If repetition of the same digit is allowed,
the prabability of a Pin Code beginning with a 7 and ending with an 8 is:
a) 1/10 b) 1/100

c) 1/90 d) 1/80
(Video name: #Probability Exam Important Questions

{#Statistics) Channel:(HM Hasnan)
{Scan this Bar Code for Complete Salution)

11.38) In a certain town, 50% of the households own a cellular phone, 40% own a pager and 20%
own both a phone and pager. The proportion of households that own neither a cellular phone
nor a pager is:

a) 90% b) 70%
c) 10% d) 30%

11.39) In a certain town, 70% of the households awn a UPS, 30% own a generator and 20% own
both a UPS and generator. The population of households that own neither a UPS nor a generator
is:

a) 10% b} 20%

c) 30% d) 50%
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11.40) A box contains 2 white balls, 3 black balls and 4 red balls. In how many ways three balls be drawn
from the box, if at least one black ball is to be included in the draw
a) 32 b) 48

c) 64 d) 72

11.41) 7 people are selected at random from a group of 10 men and 11 women to form a committee.
The probability that atleast 5 men would be selected will be:
a) 0.8005 b) 0.1192

c) 0.1401 d) None of the above

11.42) Ali wishes to plant flowers in front of his house. His father has brought him a box containing3
tulips, 4 roses and 3 jasmines, If he selects five flowers at random, the probability that 1 tulips, 2
roses and 2 jasmine are selected is:

a) 1/9 b) 2/27

c) 3/14 d) 3/28

11.43) In a consignment of 25 auto batteries, 3 are defective. If a random sample of 5 batteries is
selected, the probability of having exactly 2 defective batteriesis?
a) 0.053 b) 0.035

c) 0.12 d) 0.087

11.44) Online booking system of food channel receives an average of two orders in every four minutes.
Assumingan approximate Poisson distribution that five or more orders will be received during a

period of eight minutes?
a) 0.3712 b) 0.4679

c) 0.5321 d) 0.4679

11.45) There are 5 red and 7 black cars for sale at fast wheels. If 2 cars are sold, what is the probability
that both are red?
a) 0.6364 b) 0.1515

c) 0.3636 d) 0.4167
11.46) The events A and B are mutually exclusive. If P(A) = 0.5 and P(B) = 0.4, then P(A or B) Is:
a) 0.1 b) 0.54

t) 0.9 d) 0.2
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11.47) A 4-digit pin code can begin with any number except 0,1 & 2, If repetition of the same digit Is
allowed,the probability of a pin code begin with 5 and end with a 3 is?
a) 1/70 b) 1/90

c) 1/80 d) 1/45

11.48) There are 5 red and 7 black cars for sale at fast wheels. If 2 cars are sold, what is the probability
that first is red & second is black?
a) 0.6364 b) 0.1515

c) 0.2651 d) 0.7349

11.49) A committee is to be made of 4 members from a total of 13 people of which 5 from Punjab, 2
from Balochistan, 4 from Sindh and 2 from KPK, what is the probability that committee contain
none from Punjab?

a) 0.402 b) 0.598

c) 0.804 d) 0.196

11.50) One emplre from Sindh, two from Baluchistan, two from Punjab and four from KPK, what is the
probability that one is from each province?
a) 6.7% b) 8.7%

c) 9.7% d) 12.7%

11.51) A committee is to be made of 5 members from a total of 12 people of which 5 from Punjab, 2
from Balochistan, 3 from Sindh and 2 from KPK, what is the probability that committee contain
2 from Sindh and 1 from each other?
a) 6.8% b) 0.76%

c) 9.8% d) 7.6%

11,52) A wallet contains 65 notes of Rs.1000 and 35 notes of Rs.500. Four notes are selected at random.
Find the probability that sum of notes are Rs.30007?

a) 0.3156 b) 0.6844
c) 0.3105 d) 0.6895
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Chapter-12
Probability Distributions:

12.1) Which of the following statements as regards the Normal Distribution is NOT correct?
a)  Both tails of the distribution approachand b)  Higher standard deviation leads to a flatter
meet the horizontal axis at a finite but curve
high value. /‘ :
The area under the curve represents d) It is described by its/mean and standard

probability and so totalsto 1 deviation N
~)

L-'I ¥
12.2) Which of the following Is not true of the normal distribution? \"
a) the measures of central tendency (mean, b) the cuwe aﬂpruar.hes the x-axis gradually on
mode, and median) are equal in value either side nfthe mean
c¢) thecurve is bell-shaped d) the curve is awmmetrlcal
y Y
12.3) Continuity correction is used in which of the following? — «— 4
a)  Hyper geometric distribution //r 6 /b) . ;Normal distribution

—

c) Poisson 2 Ld]- Binomial

// . 4 -

12.4) Which of the following is not expECtEd to be normally distributed
a) Height of men with age 20 years b) Ageofstudentsinaclass

£
c) Age of entire poP\ulatlon in countn,t d)] Bothbandc
12.5) Binomial dlSt]"IbutIDn does not carry the characteristics
a) trails are d|a|:|-|m'n:|er|taJI b) fixed number of trails

-""'--.
c}/y‘ Frobahlhtv wﬂlﬂremaln same in all trails d) probability can be distributed in success or
|74 failure
12.6) In whfth distribution the probability of success remains constant from trial to trial
a) Hyper geometric distribution b) Binomial distribution

c) \ Poission distribution d) Allof these

12.7) Which of the following statement is correct?
a)  Ifadistribution is skewed it means it Is asymmetrical about the mean
b)  Ifthe peak the middle of the histogram and the frequencies either side are similar to each
other the distribution is said to be asymmetrical
c) The area under the normal curve represents mean
d) All normal curves are asymmetrical about the mean and are bell shaped
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12.8) In a binomial distribution
a) Mean =Variance b) Mean < Variance

c¢) Mean > Varlance d) None

12.9) Which of the following statements as regards to Normal distribution is/are correct?
(i} Both talls of the distribution approach and meet the horizontal axis at a finite but high value
(i} Higher standard deviation leads to a flatter curve (‘
a)  Both statements are correct b)  Both statements are not cc-rre.ct ’

¢)  Only statement (i) is correct d)  Only statement (ii) Is correct

12.10) Which of the following statements as regards to Normal distribution is/a'Fe:o\rrect'?
(i)  Bothtails of the distribution approach and meet the harizontal axis aflfiﬁite but high value
(ii) Lower standard deviation leads to a flatter curve of D
a)  Both statements are correct b) _Bdth statements are not correct

¢)  Only statement (i) is correct d) /Fdnlv slatehent {ii} is correct
]

J

12.11) Which of the following is the property of bell-sha] ped dlstrlbutlon?
a) mean=median = mode / i o b} ' Unimodal

c) Svmmetricallﬁ.symptnti;s \ ; L1:I}| All of these

. "4
P, )
12.12) In a consignment of 25 autc?I;‘atter'ies, 3 are defective. If a random sample of 5 batteries Is
N
selected, then probability of having exactly 2 defective batteries in the sample is:

a) 5.3% A ) b) 3.5%
0 12% \ d) B8.7%

12.13) A wallet contains slxtv -five Rs 1000 and thirty-five Rs. 500 currency notes. If four notes are drawn
from the wallet at random wlth replacement, find the probability that total amount drawn would
exactlv be equal to Rs..3000 Is:

a)l 131.05% N\ b)  35.00%
) SDD0% % d)  65.00%

’ _.- "
/‘\\ J/‘!( ;
12.14) \'l:hree dicestolled together. The probabllity of rolling a 3 on atleast one of three dices Is:
a). »0.3333 b) 0.3472

D)

¢) ¥ 0.4212 d) 05787

12.15) When coin is rolled three times find the probability that exactly one head will appear
a) 0.375 b) 0.625

¢ 0357 d) 0.875

44 |CH-12 BY: HM Hasnan [CFM (UK), CFMA, MA (Eco)]

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

[STATS, Important Questions] [CH-12]
By:(HM Hasnan)

12.16) If a dice Is rolled 5 times then probability of appearing 3 at least one time is?
a) 0.598 b) 0.402

c) 0612 d) 0.388

12.17) A dice is rolled 5 times. What is the probability that exactly 2 “fours” appear?
a) 0.1525 b} 0.1608

c) 0.1408 d) 01728 —

F
12.18) You are given 7 true false questions and required to find the probability of/ at ieast 1 wlll be
correct? b,
a) 0.992 b) 0.008 .«" ‘\-.'- :

\;/'f

c) 09375 0.0625

//’

12.19) You are given 10 true false questions and required to find tha probabilitv of atleast 4 correct.
a) 07825 b) /u 5251\_

o 09987 d) l\-_-_q;a'sﬁg"s :

T ~
12.20) An unprepared students go for test’{rhere @/r/ 010 true false questions In test. Find the

probability that atleast 1 is correct. ' N
a)  0.9990 , AN » 0.95

¢ 09 1.0

12.21) An unprepared students go for test. There are 10 questions MCQs having 4 options in test. Find
the prabability that atleast 1 s correct.
a) 0.9437 0.3257

c) 06925 7 d) 05250

12.22)Ina test there are 20 questions All questions are MCQs with 4 choices. A person does not know
any of the question cnrre::tly and is selecting options haphazardly. Find the probabillity that exactly
A4 are -::nrrect o v
19. BS% b} 15.85%

/ b a) / .
\c} 18.96% d) 12.12%

12.23) In one day a department manufactures four products, each of which has an independent chance
of 20% being faulty. The probability that at least three products are not faulty is:
a) 07128 b) 0.8192

c) 0.5120 d) 0.6154
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12.24) Fantastic Five Football Club (FFC) team loses 7% of its matches in every session. The probability
that FFC will lose exactly one of its next five matches Is?
a) 7% b) 26.18%

¢) 0.01% d) 73.82%

A local news channel has conducted an opinion poll for constructing more dams In the country.
The poll result indicates that 80% of the participating viewers support the Idea, 10% are
against the idea and 10% are undecided. If a sample of 10 participating viewers s serected at
random, the probahility that atleast B viewers will support the idea will be: ( U’
a)  0.2684 b)  0.3020 £y VY
’

¢ 03222 d  0.6778 / } \

12.26) On any given day, the probability that the entire family of Mr: ‘f\eats dlnner tugether is 2/5.
Find the probability that, during any 7-day period, family front has éach dinner together at least

six times £ )
a) 0.1255 ,n.niak 4

¢) 0.2185 d) (ﬂzzn

NS
12.27) A Television Company Launch a new:( Channel | fter the ‘ranking of their channel there Is found
that the 80% of Viewer In Favor of this Channel and 10% of viewer against their Channel and 10%
are undecided. What is the praﬁahlllw that at least eight of the viewer are in the favor of this
Channel If random sample of-10 peop!e are selected from these?
a) 06178 X ’ b) 05778

c) 0.6778 d) 0.4678
Fa %

In a bakery, 3 cakes\nf fresh cream pineapple, 4 cakes of chocolate, 2 cakes of buttercream
strawberry and 1 cake Mthnut cream are avallable. If two customers purchase one cake each,
such that first cake is replaced before the sale of the second then, the probability that both the
cakes sold wou_ld be of chocolate flavour is:

a}'x\'.r,e'zz . b) 2/15

7 ¢ Dba2 y d)  0.16

r J ’

.rj‘\ 4 \

12.29) The helpline of an ISP receives an average of four calls in every five minutes during peak load hour.
Assumlngan appropriate Poisson distribution, what is the probability that three or more calls will
be reteived during a period of ten minutes?

a) 0.8488 b) 0.9576

c) 09862 d) 0.0424

12,30) During peak hours a center receives 4 calls per 30 minutes. What Is the probability of getting 3
or more calls in an hour,
a) 0.9862 b) 0.2968

¢)  0.8296 d) 0.9826
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12.31) Ahmad received 4 calls in five minutes on average. What is the probability that more than 3 calls
will be received in 10 minutes?

a) 0.2365
¢) 0.152%

b) 0.2587
d) 095

12.32) FX food channel receives an average of six orders in every four minutes. Assuming an
approximate Poisson distribution that five or more orders will be received during a period of four

minutes? f
a) 02849 b) 07151 4 \ ;
c) 0.4455 d)  0.5545 . \ Y
£ 2D
12.33) A telephone operator receives on average 2 calls in 3 minutes. Find the pr n\bal:llhtv of receiving
maoare than or equal to 4 calls in 9 minutes £ k_/
a) 0.2365 b) o ma\
¢ 01525 d) _0.0768%

£E.
12.34)

\
Online booking system of food channel receives an average ¢ of two orders in every four minutes.
Assuming an approximate Poisson distribution that flve ormore orders will be received during a

period of nine minutes? // O [\Y
i b) 0.4679
a) 03712 ) \ (‘b
¢ 05321 A / \ 7 d) 03679
F i ¥

12.35) A normal distribution has mean’5.03 and standard deviation 0.03 then find the
probability of values between Sto 5\06
a) 0.5858 b) 0.6826

c) 06256 R d) 06101

12.36) In a normal a\is\“'gnbuflu'p;“mean =5.05 and SD = 0.02 find the area between 5.00 and 5.06
a)l 0.4214

¢ \ , b) 0.5258
¢ ‘06100 [ d)  0.6853
.'. - )
12.37) Thé area under the normal curve between pi- 3.50 and +1.00 is
) 0.3215 b) 0.2518
) 07528 d  o0.sa11

12.38) In a Rice mill the hags of rice has mean weight of 5.05 kg and standard deviation of 0.02 kg. if a
bag is selected at random then find the probability that its weight is below 5 kg

a) 0.62% b) 0.72%
) 0.82% d) 0.52%
47 |CH-12
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12.39) The weights of bags of rice packed on a machine are normally distributed with mean = 5.15 kg
and standard deviation 0.05kg. If a bag is picked at random, find the probability that it weighs
less than 5 kgis?

a) 0.9987 b) 0.5013

c) 0.4987 d) 0.0013

The weights of bags of rice have mean weight of 5.05 kg and standard deviation of 0.025 kg. if a
bag is picked at random then find the prabability that its weights between 5 kg and 5. DE kg will

be: / . #
a) 50.82% by 47.72% 4
c) 63.26% d  1.64% /i\ \
® \_,
12.41) The average life of a certain type of motor is 10 years, with 2 s*tandard ‘deviation of 2 years.
If the manufacturer is willing to replace only 3% of the motors that. fall how long a guarantee

should he offer? Assume that the lives of the motors follow a nurmal distributlun
a) 5.24 years b) 6. Myearf y

c) 7.62years d) \7.12 years
Vs /‘r\ .
12.42) The admissions office at a college repnrted that this year 's freshman class had an average SAT
score of 1103 with a standard devlatlun of 95. (\!i!}at is the probability that a sample of 40
students from this year's freshman class had an average score greater than 11207

a) 01292 4 y’h] 0.3708
¢ 06292 d 0.8707
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Chapter-13
Sampling & Estimation:

What is the definition of sampling?

a) A process or method of drawing a b) aprocessof arranging population
representative group of individuals or cases
from a particular population >,

c) aprocess of finding probabilities d) Allof these f,._/\- ’

BN ),

Which of the following statements is NOT correct as regards the sampllng dlstnhutuon of the

means? ) y

a) The sampling distribution of the meansisa b) The mean_of the sampling distribution of
normal distribution. the mean-is the same as the mean of the

popufation .7

c) The standard deviation of the sampling d) The’sﬁtandard deviation  of the sampling

distribution is called standard error ’dlstnbutmn of the mean is the same as the
\Jtandard ‘deviation of population.

E

A survey is made in Karachi on 100,000 peeple{ezg\erdlng the daily consumption level of water.
Find the correct statement. /‘\\ L f
a) 100,000 people is sample and Karachicitvls b) 100,000 people is Population and Karachi
population A \ V4 4 city is sample
c) 100,000 people is sample and /No d) None
population g "

100,000 adults were randomly selected from all over Karachi and asked whether they drink
atleast 10 glasses of, water each day. Only 45% percent said yes. The population and sample in
datais: - \ /

a) Population 45% adults!who drink atleast 10 b) Population: all adults in Karachi Sample:
gldsses of, water..._Sampie 100,000 selected 45% adults who drink atleast 10 glasses of
/adults N L water

c) Populatton 'a'[l adults in Karachi Sample: d) None of these

/ 100, 0{)0 selected adults

13.54\A\Fompanv has 1000 customers. The customer service office of the company selected a customer
at'random from the first 10 customers on the list of customers, Thereafter he selected avery 10™
customer from the list and called them to get feedback on the services offered by the company.
The is an example of:
a) Random sampling b) Systematic sampling

c) Stratified sampling d) Quotasampling
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13.6) When population is heterogeneous, best suitable method for sampling Is:
a) Cluster Sampling b) Quota Sampling

c) Stratified Sampling d) Systematic Sampling

13.7) A business researcher wanted to evaluate the eating habits of England residents from a rural site,
such mothers which have less than 3 babies. The sampling used for this purpose is called.
a) Stratified sampling b} Cluster sampling

t) Systematic sampling d} Multistate sampling /’
A \ 4
13.8) A pharmaceutical company sent its teams into rural areas of the country to intenﬂew all mothers
with children under 2 years af age. The selected sample is an example of: . \ P
a) Cluster sampling b} Systematic sampllng

c) Stratified sampling d) Quota sampling L

N | \\

13.9) A Pharmaceutical Company survey in rural area and brief thelr teams to cnllect the sample by
interview form individual as mother under 2 Child is type of sa mp‘rlng?

a) Stratified sampling b}l Clustersampling

c) Systematlc sampling - d} Multistate sampling
£ &)
13.10) Which sampling provides separate Estlmates for pnpulaﬂun mean for different groups and also
an overall estimate? / =

a) Simple random sampllng d \ “b) Quota Sampling
c) Stratified random Sampllng 7/ d) Systematic Sampling
p, r
13.11) Drawing a conclusian about a population from a sample is known as:

&

a) Hyputheslste§t+qg b} Point estimate

Vo
F i &

13.12) Theré are Tétiﬂ 10,000 car buyers in a city
SL'zuItI buyers =2500, Corolla buyers = 2500
Liana'= 2500 Handa = 2500
..r/ 400 car hu_vers are selected, 100 from each category.
/\Thlé is an example of
al. SITpre random sampling b) Systematic Sampling

\
c) Statlstlcallnferen:\éﬁ ’ d} Systematic sampling

%ﬁiratified random Sampling d) Cluster sampling

13.13) A company has 250 employees and issue 200 forms to its employees to give feedback on its
products but only 180 employees gave feedback. What is sample size
a) 250 b) 200

c) 180 d) None

50 |CH-13 BY: HM Hasnan [CFM (UK), CFMA, MA (Eco)]

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

[STATS, Important Questions] [CH-13]
By:(HM Hasnan)

13.14) As population size increases, the value of the finite population standard deviation of the sample
mean
a) Decreases b) Gets closer to the infinite population
standard deviation of the sample mean
¢) Bothaandb d) Increases

13.15) How many samples of size 3 can be drawn without replacement from a population of size 5?
a) 12 b) 10

c) 15 d) 25

13.16) If the sample size decreases from 75 to 40 the standard errar would be?
a} increase by 36.93% b} increase by 46 “17%

c) Increase by 32.81% d) increase hy 29 ?3%

F -

13.17) From a given finite population samples are drawn with réplacemént’lf the sample size is
decreased from 70 to 50, the standard error would: g
a) Increase by 18.32% b) //nr.rease by 15.48%

¢) Increase by 14.14% d) \“Increase by 8.37%

£ ONS
-} /www.voutube com/watch?=a9d FVTkdZde—

(Video name: Standard Error) Chanheli(HM Hasnan)

(Scan this Bar Code for Complete Solution). -

13.18) From agiven finite popula*tmn Sample are drawn with replacement. if sample size increase from
40 to 75, standard error would be.

a] 249755\ b) 26.97%

L 2597% N d) 30.97%
\httgs {fwww yOutube com/watch?v=a9dFVTk4Zdc

/" (Vldeu name: Standard Error) Channel:(HM Hasnan)
N "‘{Scan this Bar Code for Complete Solution)
, 7

o

13.19) If a finite population of size 324 has a mean 18, what would be the mean of the sampling
distribution of the mean for samples of size 257
a) 5 b) 3V2
cj 18 d) It cannot be determined from the
information given
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13.20) If n = 300, male = 109.Find 95% confidence interval of male students in college?
a) 30.9%to41.73% b) 35.9%to41.73%

c) 25.9%to041.73% d) 20.9% to41.73%

Random Sample 49 items, Variance 90. Find standard error?
a) 12.85 b) 3.59

¢ 1.355 d) 0.9 f
A \;
13.22) Sampling is used to test hypothesis about \ ,
a) Sample mean b) Population mean) P

¢) Sample standard deviation d) None

af \
Cluster sampling Is an example of F oy
a) Random sampling b) -Non- Random Sampling

c) Probability Sampling d) Non prababllltv sampling

—

A study of voting chose 663 reglster'é:l voters) a\"'randam shortly after an election. Of these,

72% said they had voted in the e!ectlnn Electlon records show that only 56% of registered

voters voted in the election. Which of the folluw!ng statements is true about the boldface

numbers?

a) 72% is a parameter and 56% Is astatistic. b) 72% is a sample and 56% s
a3 - population

€] 56%isa parameter and 72% isw,a statistic. d) 72% and 56% both are parameter

.\ '
13.25) With a sample 5Izé of SDG the standard error is 3. What should be the sample size so that
we could be 95% confident that the population mean Is within 4 of the sample mean?

a) 20005\ Y b) 2050

)< 1945 ‘\““‘"’ d) 1900

F N

-

, %
1/
13.26)" Samplés of size 81 are taken from a population of size 500 with mean 10 and standard deviation
/~_. 3. Find the standard deviation of the sample means
a) 0317 b) 033

c‘,l\1 .D’gz d 3

13,27) The president of National Cardiac Association (NCA) wants to determine the average number
minutes that patients of each doctor walks per day. He randomly selected 30 doctors and advised
each of them to poll 50 of their patients at random and submit the main number of walk minutes
per day to the NCA. The sample size for NCA will be:

a) 30 b} 50

c) 1500 d) 80
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FR

13.28) The process of making an interval based on sample observations containing unknown value
of the population parameter with a known probability is called
a) Point Estimation b) Interval Estimation

c}) Stratified Sampling d) Random Sampling

Which of the following as regards random sample is INCORRECT?

a) It can be cumbersome when sample is to b) It is not suitable for Investigaturs who are
be obtained from an unusually large interested  in |ssues related to
population subgroups of a populatlon
It is a bias free sample d) It is a sample in. WththVEW’ member of

population has Unequal Jehance of being
selected U /N

r

Fa
A museum wants to determine the fee that should be charged'fr}m the visitors to enable it to
earn revenue of Rs 40 million per annum. The administrator of the' museum has estimated
that 500 visitors visit the museum daily. Identify the sizeof the sarnple that would be needed at
95% confidence level such that error in the above élaim does‘not exceed 25, assuming that
population standard deviation is 60. Nt

A —

a) 28 ‘ f’ “b) 357

¢ 23 \ u 25

13.31) Random sample of 70 Items were drawn wnth replacement from a finite population. If 5(x - -X)? =500, the
standard error of the mean wn::uld be’ ’
a) 0.319 . b) 0.322

c) 267

(Vided'name: Standa?d Error} Channel:(HM Hasnan)
(Scan thlS‘ Bar Cnde for Complete Solution)

13.32) ThE Human Resource Directors of a large company wants to know what the employees of his
company think about the proposed changes in remuneration package. A questionnaire is given to
250 employees. 220 employees returned the questionnaire of which 180 employees supports the
proposed change in remuneration package. The population is:
a) 250 employees receiving the questionnaire b)  All employees of the company

c¢) 220 questionnaire which have been d) 180 employees who support the proposed
returned change in remuneration package
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13.33) An auto analyst is conducting a satisfaction survey, sampling from a list of 10,000 new car
buyers. The list includes 2500 Suzuki buyers, 2500 Hyundai buyers, 2500 Honda buyers,
and 2500 Toyota buyers. The analyst selects a sample of 400 car buyers by randomly
sampling 100 buyers of each brand. Is this an example of a simple random sample?

a) VYes, because each buyer in the sample b) Yes, because each buyer in the sample
was randomly selected had an equal chance of being selected.

€) Yes, because buyers of every brand were d) No, because every posslb_le sample of 400
equally represented in the sample buyers did not have a'p'ecKaI chance of

" i

being chosen. /
13.34) Feroz textiles (FT) is planning to export ready-made garments for addlts, to quiénd. Which
of the following would be an apprapriate sample for measuring waste s]_:ges? J
a) Sample of all sizes of leading ready-made b) Adults : selecteg.l\- /at  random from
garment brands in England. resiﬂgqts'ln@ajo: cities of England
€) Adults selected at random from a large d) Both(a) and {b)
corporation of England /._- 3 ‘“\\ =

13.35) The Gallup Poll has decided to increase the size of its r'an'dum":-:ample of voters from about 1500
people to about 4000 people right before an

proportion of voters who favor a new
increase is to :

a) Reduce the variability of the estimate ,b)  Have no effect since the population size is

A S/ \ ' the same,
€) Increase the variability of the éstimate. / d) Reduce the bias of the estimate,

(election. The Poll Is designed to estimate the
law banning smoking in public buildings. The effect of this

r

F 4
While assessing the accuracy of packed wei
estimated that the standard deviation is 0

13.36) ght of 1 kg sugar bags, a quality controller

5ta .05 gram. How large a sam ple must he take in order to
be 95% confident thatthe eyrnfr In his estimate of mean weight will not exceed 0.01 gram?

a) 68 s ‘\ \ b) 69
¢) 96 \ d) 97

;_“\ hY -
13.37) From an industrial’area 70 companies were selected a

/ for expansion next year. Find 95% confidence |i
. Planning for expansion;

a) 0.35,0.57
) \ 053, 0.75

t random and 45 of them were planning
mits for the Proportion of companies

b) 0.35,0.75
d) 0.35,077

13.38) The maximum speed limit on a busy road |s 0 km/h. Congestion results in much slower actual
Speeds. A a.mdom sample of 57 vehicles gave an average speed of 23.2 km/h with a
standard deviation of 0.3 km/h. What are the upper and lower limits of the confidence interval
for the mean speed, given a confidence level of 95%7?

a) 23.12----23.28 b) 22.12---21.28
€ 20.12--.2328 d) 23.12--.30.28
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13.39) A sample of SO DVD has a population mean is 720. The sample mean is 700, find the s.d If level of
significance is 1%.
a) +54.92 b) -54.92

c) Both d) None of these

In a sample of 700 people in a city 313 are found men. You are required to construct a 95%
confidence interval of all the men in a city is between.
a}) 0.4821-0.5221 b) 0.4076-0.4866

c) 0.3840-0.4542 d) 0.4040 - 0.4942 \

If sample of 50 athletes from the Olympic squad of a country had a mean m:g\bf B§ kg with a
standard deviation of 2.5 kg, we can say with 95% confidence that the rﬂganwelght ‘of all athletes
in the squad is between: (./
a) 84.23t085.77 b) 84. 42 tﬂ 35 58

Y
c) 84.31to85.69 d) B84. 091:0 BS 91 )
5, y’
Consider the following sample: & _N4
45,4.9,5.2,5.6,6.2 N —
With 99% confidence level, the pupulatiun mean’i

|s between’-’
a) 3.94t06.62 \ (_, "5.92 to 6.08
c) 4.99t05.91 A / \ +d) 5.22t06.08

p
4

Random sample of 50 items were drawn wlth replacement from a finite population. If variance

is 45, the standard error of the mean would be:

a) 0.900 / b) 0.918

A

¢ 0.949 \ d) 0.968
l‘; s’
13.44) From a gwen ﬂmte populatmn samples are drawn with replacement. If the sample size is
mcreased from 70 ta45. The standard error would:
a) “Increase byzs% b) Increase by 21.62%

A ) Increase by 24.72% d) Increase by75.28%

13.45) Ernm a given finite population, samples are drawn with replacement. If the sample size is
increased from 10 to 100. The standard error would:
a) /Decrease by 90% b) Decrease by 21.62%

c) Decrease by 68.38% d) Decrease by31.62%

Fram a given finite population, samples are drawn with replacement. If the sample size is
increased from 45 to 75. The standard error would:
a] Decrease by 22.54% b) Decrease by 21.62%

c) Decrease by 29.09% d) Decrease by 75.28%
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13.47) A sample of 100 employees of an entity had a mean weight of 170 pounds with a standard
deviation of 5 pound. Which of the following sample sizes will result In a confidence interval of
the mean 11 pound for this data at the 90% confidence interval?

a] 3 b) 280
) 20 d) 68

A sample of 100 employees of an entity had a mean weight of 170 pounds with a standard
deviation of 5 pound. Which of the following sample sizes will result in a confidente'interval of
the mean 13 pound for this data at the 95% confidence interval? \

a) 3 b) 280

) 11 d 68 ?
13.49) Which of the following statements Isfare correct in regards the’ sampl ng distribution of the
mean? ,J Qs

(i) The sampling distribution of the mean is a normal distrabutic{! £
(ii) The mean of the sampling distribution of the mean js the same;as the mean of the population

\ _.’_\'
._'_'f

a) Both statements are correct . ~~.b). Both statements are not correct

c) Only statement (i) Is correct d)’ ) .Unly statement (il) Is correct

NN &

13.50) Which of the following statements s,!are correctabout random sample?

(i) Itis bias free sample \ ¢ 4
(ii) It is not suitable ;or investigatars:who are interested in Issues related to subgroups of a
population. & )

\
3) Both statement:\are mrrect b) Both statements are not correct
" 4

c) Only statement [I] is correct d) Only statement (ii) Is correct
F "\’\
13.51) Whlch of the fullowmg statements Is/are correct about sampling distribution?
(i) The mean of a sampling distribution is the same as the mean of the population
(ii) Sampllng distribution is symmetrical about its mean

“a)/" Both statements are correct b) Both statements are not correct

c]\ nly statement (i} Is correct d) Only statement (ii) is correct

F
13.52) Which of the following statements is/are correct about random sample?
(i) Itis bias free sample

(i) Where every member of the population has an equal chance of being selected as a member
of thesample.
3a) Both statements are correct b) Both statements are not correct

c) Only statement (i) is correct d) Only statement (ii) is correct
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13.53) Which of the following statements about Sampling distribution of the means is/are correct?
(i) The standard deviation of the sampling distribution is called standard error.

(i) The standard deviation of the sampling distribution of the mean is the same as the standard
deviation ofthe population.

a) Both statements are correct b) Both statements are not correct

c) Only statement (i} is correct d) Only statement (i) is correct

A b _’-
Consider the following sample: 4.5, 4.9, 5.2, 5.6, 6.2 With 95% confidenceﬂleéélg,the pcl'pfulatic:n
mean is between? // h

N
a) 3.9486.62 b) 592&6.08 (9 N
c) 4.47&6.09 d) 5.22 & 608" \
o |

+#

13.55) Which of the following about cluster sampling is/are co;rrect";\ ,
(i) Itis useful when all data of individuals of populatioh are not given.
(ii)  Itis type of multistage sampling. s
—

7 Y
a) Both statements are correct A f (_b]\} Both statements are not correct

—

# F
c} Only statement (i) is c-:::rrect( \ d)” Only statement (ii) is correct

ra

13.56) Which of the following sta't'e‘mehts'fs{!are correct in regards the sampling distribution of the
mean? b
(i) The standard deviation of the sampling distribution of the mean Is the same as the standard
deviation of the population.
(i) The sampling dl;trlhution of the mean is not a normal distribution.

. \ N
a) Both'statements are carrect b) Both statements are not correct
il C

c) _.-O’nh.r stétement (i}Is correct d) Only statement (i) Is correct
o "
’  —
\\_ )/
7 P s
. 1'-. \ 4
/ \ V4 \)
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Chapter-14
Hypothesis Testing:

14.1) A significance level of 0.01 means that?
a) there are 1% chances that null hypothesis b) 1% probability of incorrectly acceptance of

will be rejected null Hypothesis
14.2) level of significance is also referring as \ \

c) 95% confidence that null Hypothesis is false  d) None of these
a) probability of Type | error Probability of acceptance area/
c) Probability of type Il Error probability ot}ther than re[ectlon area

=

14.3) The probability of rejecting a True hypothesis: / 7
a) Level of significance b) Leuelnf conf\glence

¢} Type-lerror d],Both [a] and (c)

a) thereis more than 95% chances that the/ \" b) TEnull hypothesis is rejected, there is a
null hypothesis is false (_/ \ ’‘maximum chance of 5% that the decision
Y~ L may be wrong
c) If null hypothesis is accepted, there is-a L d) Iftype Il error is made, there is 95% chance
maximum chance of 5% that the decision) of making a type | error too.
may be wrong Wy

14.4) Asignificance level of 0.05 means that? o K\-/ﬁ

; s
14.5) “The machine is workmg properly with the same average output level as given is last year”
The above statement represents P

a} _statistical hvpotheses b) null hypothesis

¥

Y 4
¢ altEHEte hvathesls d) All of these
o‘/- \"'- o

14, E} +Recent“bomb hlastSrIn capital cities will decrease 10% votes of PMLN" The above statement
_ expresses .
L)/ null hvputhesis b) inferential statistics

c) _hvpnthems testing d) None of these

14.7) If we Increase the level of significance, the range of acceptance region is:
a) Increased b) Decreased

¢) No change d} None of these

58 |CH-14 BY: HM Hasnan [CFM (UK), CFMA, MA (Eco)]

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

[STATS, Important Questions] [CH-14]
By:(HM Hasnan)

14.8) If you want to test the claim that automobile is driven on the average more than 20,000 km per
year. The null and alternative hypothesis will be
a) w=20,000 u=20,000 b) up>20,000 u=20000

€) w=20,000 u>20,000 d) p=20,000 u<20,000

14.9) Which of the following construction of null and alternative hypothes!s is/are correct? Please
note that population mean in both cases is 36.
(i) The sample data provide evidence that the population mean Is less than 36. Therefore,
HO: p<36H1: p <36 N\, ¥/ ;
(i) The sample data provide evidence that the population mean s greater than 36. Therefore,
HO: 1< 36 H1: p> 36 . \ 4

-
F
F i

a) Only case (ii) Is correct b) Both cdses are not'correct

c) Only case (i) Is correct d) Both cases"a_r_e correct
~
# N
Which of the following construction of null and alternative Rypothesis is/are correct? Please
note that population mean In both cases is 36. = 4
(i) The sample data provide evidence that the populatlon mean is not equal to 36. Therefore,
HO:p =36, H1:p#36 e

(il) The sample data provide evidence that the population mean Is less than 36. Therefore,
HO:p <36, Hl:ps 36

a) Only case (ii) Is correct f’ \ Both cases are not correct
c) Only case {I} Is correct

Both cases are correct
Which of the followlng construction of null and alternative hypothesis is/are carrect? Please
note that population mean in bc-th cases is 36.

(i) The sample data prowde evidence that the population mean is less than 36. Therefore,
HO:Juz 36, Hl'h 36’

(ui}The sample data provide evidence that the population mean is less than 36. Therefore,

A~ N\ HO: u =36, }Hl.p<36

< a) _/ ~Only case (I} Is correct b) Both cases are not carrect

c)” Only case (ii} is correct d) Both cases are correct

14.12) A medicine company claims that average alcohal in their medicine Is atmost 0.767 ml. In order
to test the claim a sample of 45 units is selected having average alcohol content of 0.78mg
and 5.0 =0.02 test the claim at @& =10.05.

3a) We accepted Hoby Z = 4.36 b) Werejected Hoby Z=4.36
c) We rejected Ho by Z=6.36 d) We acceptedHo byZ=6.36
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14.13) Given population mean 0.676 and standard deviation 0.06. A sample of 16 values is selected
and average was found to be 0.70 test the hypothesis at a=5% you are required to find which
of the following statement(s) is/are correct

a} Null hypothesis = Hg = 0.676 b) Critical value from table is 1.96

c) Calculated value of test statistic = 1.6 d) All are correct

14.14) Which of the following is test at value of p
a} z-test b) test of good fit

c) t-test d) bothaandc

14.15) Which distribution is more accurate while testing the dnﬁerence of pmporl:lons in larger samples
a) z-test b) student’s dlstrlbutlan

.-"

\N§
c) chi-square d)  “~_ probability distribution
./f— ; L
( \
14.16) T test depends on: ?

a) Population size b)) e Samplesize
L

c) Variance population \d) Standard deviation

14.17) T- distribution is used when ‘0. .
a) Sample size is< 30 \ N sample size is > 30

c) Sample size is < 30 & Sigma !:r ' Sample size is < 30& Sigma is known

unknown ?\
14.18) T-test ma',r be used to test the hypothesis regarding:
a} # Sarnple mean ]' b) Population variance
F,

c]/"" Popula_tlon mean d) Population standard deviation.
N b

14, 19! thch\of rhe fnllom:rlng statements is correct as regard t distribution?
a) /it varles with sample size.
h)' refernng to t distributions rather than a single t distribution leads to inaccuracy.
c) As the sample size decreases the t distribution approaches the normal distribution.
d) . number of degrees of freedom is equal to the sample size.
4
14.20) Degree of freedom exists in....
a) T- test b) Goodness of fit test

c) Z-test d) Botha &b
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14.21) If we increase the level of significance, the range of acceptance region Is
a) Increased b) Decreased

c) No change d) None

The probability of rejecting a True hypothesis
a) Level of significance b) Level of confidence

¢) Type-l error d) Both (a) anjd_l:c}

If @ =0.05 what will be the value of z from table in a two-tail test
a) 2.33 b) 1.96

¢) 158 d) 2.28

An 1Q test Is administered by a testing center. The mean scure nf tests }s-100 and standard
deviation is 15. If Saad’s mean score is -1.20. What was his score in |Q test?

a) 78 b) Ny 7
P N

c) 82 B)

D-electric claims that its energy saver bulh\haue an average life of 8000 hours. A
consumer rights protection agency tested 15 suEh hulbs to check this claim. It found that the
mean life of 15 bulbs was 7800 hours with a'standard deviation of 200 hours. Assume that
life of such bulbs has an apprnx]matelv rmrmal distribution. At 5% significance level, on
assuming the claim of D-electric we:

a) Rejects the D-electric claim as b) Accept the D-electric claim as
number of standard errors between number of standard errors
the samp1e means and. asserted between the sample means and
_/mean is beyond ‘the table value of asserted mean Is within the table
»  t-statistic which is*-1.7611 value of t-statistic which is -1.7611
c) A Accept the D-electric claim as Rejects the D-electric claim as
number of standard error between number of standard errar between
the sampie means and asserted the sample means and asserted
mean’is -3.8730 which is within the mean Is 3.8730 which is greater
table value of t-statistic which is - than the table value of t-statistic
|, 2.1458 which is -2,1458

The manager of a fitness club claims that new entrants lose more than 25% of their weight
within 3 months of joining the club. A sample of 25 new entrant shows that on average they
lost 23.5% of their welght with a standard deviation of 2.5%. The calculated and the table
value of “t" in this case at 0.05 level of significance is:

a) -3.0 and 2.0639 b) 3.0 and 2.0639
c) 3.0and 1.7109 d) -3.0and 1.7109
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14.27) A pharmaceutical
ml. A random sam
contents of 0.767
6% level significan

company claims that the amount of alcohol in each bottle of a drugis 0.750
ple of 50 bottles of that drugs was tested and found to have mean alco;'.ol
ml with a standard deviation of 0.06 ml. If we test the com pany’s claim at
ce, which of the following statement will become true?

a) Reject the company’s claim as b)

calculated value of Z is more than
table value of Z /

c) Table value of Z is 1.96 d) All of the gﬁoﬁe /‘\

14.28) A pharmaceutical com pany claims that amount of alcohol in a particular drug is 0.7
sample of size 38 is selected to test the claim and its mean = 0.?05@5 a?id.standard deviation
is 0.02mg. level of significance is 0.05. which of the following statement is/are correct?

Calculated value of 2 is 1.985

F

ﬁsmg. a

Statement 1: calculated value of test statistics is fJ.3_|‘.l'Br \ 4
Statement 2: tabulated value is 1.96 > a \
P

-

Statement 3: claim is accepted

p

a) 1,2 Y 23

c) 1,3 - & \d)_x' All of the above

14.29) An automobile company rep'é&ﬁ t_hatﬁhfa‘ﬁerage annual maintenance cost for its 1100 cc car
is currently Rs.11,025. A randurﬁ‘ﬁample of /100 customers has mean annual maintenance of

Rs.11,418 and standard deviation Sf Rﬁ.l:??S. The calculated and table values of z in this case

at 1% level ofsigﬁiﬁfi\c‘ance is? P
a) -2.214,2.576 0 b) 2.214,2.330
c) 2218, 2.3'353 N d) 2.214, 2.576
¥ et ,

~ /
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Chapter-15

Which one is correct about Chi-Square
a) mean > mode b) Positively skewed distribution

c) Range from 0 to +oo d) All of these

Chi Square distribution is used to test the hypothesis concerning: / i \ o
a) The independence of two attributes b) Goodness of Fit '

c) Population mean for large sample size d) (a)and (b) but not(c).
(& ) o
. e 8 .
A college management wants to assess the intelligence of class students for this purpose which
of the following distribution will be used?

a) T-test b) Ztest
2 d)/ nne\

c) X" test

P

Yates correction is applied in case of: 6 \\ ,“’
a) Poisson Distribution ,/ ' QJ»BinomIal Distribution
T N @

c) Chi-square Distribution i d) Normal Distribution

F
The “Yates” continuity carrectiSn: o
a) Reduce the numerical value of the difference between actual and estimated value by
0.5 regardless of the sign of the numerical value
b) Increase the numerical value of the difference between actual and estimated value by 0.5
regardless of the sign of the numerical value
c) Reduce the numerical value of the difference between actual and estimated value by 0.5
anIQ- if actual value is greater than estimated value.
d)< Reduce theﬁiimerical value of the difference between actual and estimated value by 0.5
f"wnly if actiral value is less than estimated value.

o \ !

15.?5) _A'statistician wants to test whether intelligence levels of college students of two different cities
re different or not.
The above test would require the use of:
a) / Chi- -square testing b) Test of goodness of fit

c) Z-test d) T-test

The term degree of freedom is used with reference to:
a) Test of goodness of fit b) Z-test and test of goodness of fit

c) T-testand test of goodness of fit d) T-testand Z-test

63 |CH-15 BY: HM Hasnan [CFM (UK), CFMA, MA (Eco)]

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

[STATS, Important Questions] [CH-15]
By:(HM Hasnan)

15.8) Which of the following is continuous distribution?
a) Z-distribution b) T-distribution

c) Chi-square distribution d) All of these

To test similarity between two same or different variables which of the following test is used
a) T-test b) Z-test

c) Kz test d) None /‘

g \ "
A group of people were surveyed about their favourite car. The following. results were
obtained: \ 4

LN

Gender Frequency / )

Corolla ‘\ 2 Suzuki

Female 26 2 14 \ U 5

Male 27 (37 Y 11

Using Chi-square test at 5% level of mgmhcance if\\f.re have to test the hypothesis that the choice
of favourite car Is Independent of ane 5 gender. which of the following is true?

-
a) Degree of freedom is 3 \ C/

b) Calculated value of chi- square is 5.99
c) Sum of expected valués for twd rows Is AS5and 75

d) Favourite carls Independen}ofone s gender as calculated value of Chi-square Is greater

than Its tabulated Value )
{

L

15.11) A group of people".were_surveved about their favourite car. The following results were
obtained: , 4

F. . ¥
P . 1 »

4 Gender ), Frequency
A
/\ > Corolla

L/

/" Female- 26 14 5
Ny,
Male 27 37 11

Using Chi-square test at 5% level of significance, If we have to test the hypothesis that the choice
of favourite car Is Independent of one’s gender, which of the following Is true?

a) Degree of freedom s 3

b) Calculated value of chi-square Is 5.48

c) Favourite car is not Independent of one’s gender as calculated value of Chi-square is
greater than Its table value.

d) Favourite car is Independent of one’s gender as calculated value of Chi-square Is
greater than Its tabulated value
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5.12) The average performance of the students of a college over last 10 years shows that the
percentages of students securing A,B and C grades are 15%, 30% and 55% respectively. The
current year’s result shows that out of total 400 students, the number of students securing A,B
and C grades aggregated ta 64, 144 and 192 respectively. Calculated value of chi square for this
data would be?

a) 3.44 b) 2.24
¢) 8.63 d) 8.16

O
5.13) The average performance of the students of a college over last 10 yearsﬂsh'ows tr;at the
percentages of students securing A, B and C grades are 10%, 40% and’SU% respe:twelv The
current year's result shows that out of total 400 students, the number uf students securing A, B
and C grades aggregated to 64, 144 and 192 respectively. Calculated value of chi square for this
data would be? y r \ r
a) 16.32 b) 2.24

c) 8.63 d) 846 ¢
\‘-_-"'—. )

J
. L
g \ e
r. . ]

5.14) The average performance of the s'ti]dents upa c::i\Ie'ge over last 10 years shows that the
percentages of students securing A, Band}grades are 10%, 15% and 75% respectively. The current
year's result shows that out nf total 500 sthdents the number of students securing A,B and C
grades aggregated to 64, 88 and343 re5pectl\relv Calculated value of chi square for this data
would be? o

a) 6.52 '

¢ 8.12

5.15}The_aﬁeragé"' performance of the students of a college over last 10 years shows that the
pen:’;antages of S:tudents securing A,B and C grades are 10%, 40% and 50% respectively. The
/numher of students securing A,B and C grades aggregated to 88, 188 and 280 respectively.
/ Calculated ualue of chi square for this data would be?
a) 344 7 b) 24.22

c) >-§.53 d) 8.16

(The End)
(Talib - e - Dua)
[MY Prayers are with you]
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Chapter-07
Collection and Presentation of Data:

7.2)

C

7.3)

D

7.6)

ORDINAL
DATA

7.7)

CROSS-
SECTIONAL

7.10)

B

7.11)

D

7.14)

7.15)

7.18)

7.19)

7.22)

A
C
C

7.23)

A
D
D

7.26)

7.27)

Chapter-08

Statistical Measures of Data:

8.2)

D

8.3)

8.6)

8.7)

8.10)

8.11)

8.14)

8.15)

8.18)

8.19)

8.22)

8.23)

8.26)

8.27)

8.30)

8.31)

8.34)

8.35)

8.38)

8.39)

8.42)

8.43)

8.46)

8.47)

8.50)

8.51)

8.54)

8.55)
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Chapter-09
Indices:

9.3) C
9.7) B
9.11) D
9.15) Rs.45,871.56
9.19) A
9.23) B
9.27)
9.31)

> Ol Ol w| O | > O

Chapter-10
Correlation & Regression:

10.2) 10.3) 10.4)

10.6)
10.10)

10.7)
10.11)

10.8)
10.12)

10.14)
10.18)

10.15)
10.19)

10.16)
10.20)

D
C
B
D
B
B 10.24)
10.27) C 10.28)
B
B
C
C
A

10.26)

10.30) 10.31) 10.32)

10.34)
10.38)

10.35)
10.39)

10.36)
10.40)

10.42)
10.46)

10.43)
10.47)

10.44)
10.48)

C
A
B
A
C
10.22) D 10.23)
D
C
D
A
D
C
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Chapter-11

Probability Concepts:

11.2)

11.3)

B

v

11.6)

11.7)

11.10)

11.11)

11.14)

11.15)

11.18)

11.19)

| O O O

11.22)

11.23)

11.26)

11.27)

@ | @ O W O O O

11.30)

11.31)

11.34)

11.35)

11.38)

11.39)

11.42)

11.43)

11.46)

11.47)

®| @ O| O| >

11.50)

11.51)
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Chapter-12

Probability Distributions:

12.2)

D

12.3)

12.6)

12.7)

12.10)

12.11)

12.14)

12.15)

12.18)

12.19)

12.22)

12.23)

12.26)

12.27)

12.30)

12.31)

12.34)

12.35)

12.38)

12.39)

12.42)

12.43)

Chapter-13

Sampling & Estimation:

13.2)

13.3)

A

13.6)

13.7)

13.10)

D
C
C

13.11)

13.14)

13.15)

13.18)

13.19)

13.22)

13.23)

13.26)

13.27)

13.30)

13.31)

13.34)

13.35)

13.38)

13.39)

13.42)

13.43)

13.46)

13.47)

13.50)

13.51)
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13.54)

13.55)
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Chapter-14

Hypothesis Testing:

14.2)

14.3)

14.6)

14.7)

14.10)

14.11)

14.14)

14.15)

14.18)

14.19)

14.22)

A
B
C
D
C
D
C

14.23)

14.26)

14.27)

14.30)

14.31)
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